S TUWUDY

POST OF DISTRICT EDUCATIONAL OFFICER (GROUP-I.C SERVICES) IN SCHOOL
EDUCATION DEPARTMENT INCLUDED IN THE TAMIL NADU SCHOOL
EDUCATIONAL SERVICE

UNIT - I - GENERAL SCIENCE

PSYCHOLOGY
1. What are the characteristics of rote learning?
i. Passive Process ii. Parasitic learning
iii. Active learning iv. Teacher - Centered
a. (iv) and (ii) only b. (i) and (ii) only c. (i), (ii) and (iv) only
d. (iii) and (iv) only e. Answer not known
QUITHEIT 2_aIJTo6D SBMEVIE LIGWILIE6IT UITen6u?
a. QFwWeuBm SHBBEL (LPeHD3 b. gL (Bewrenl SBB6d
. GQFwedsd HMBB6L d. eePflwir g
a. (iv) wopib (ii) i GLd b. (i) wBmib (ii) L G c. (i), (ii) wipw (iv) L @D
d. (iii) wBpib (iv) wi G e. aflewL  Gsfwealsvensw

2. Arrange the following four steps based on Wallas Creativity Theory

1. Incubation 2. [llumination
3. Preparation 4. Verification
a.3,1,24 b.3,2,1,4 c.2314
d. 2,143 e. Answer not known
aumevery eTaiTLIeflenT SLHBHBHMenT CHTL LT I96HTLIY SDSHSTEMID BT LIgsmen auflengIBHHIS.
a. 2_efeuenitgdl b. 2_sGenmel BHTesIN3IH60 C. HUISHBID
d. sflunitdseo e. alenL  Gafweaisvensv
PHYSICS
3. Heat transfer in a transparent solid is by
(i) Conduction (if) Convection (iii) Radiation
a. (i), (ii) and (iii) b. (i) and (ii) only c. (iii) only
d. (i) and (iii) only e. Answer not known
o6l earBheyd HL LMK Serfled OGeulin LfoTBBLD
(i) QeuliudaL G360 cpeold  (ii) GeULILFFEUSID eLP6VLD (iii) s@reiss cpsold
a. (i), (ii) wBpIb (iii) b. (i) wBwb (i) only c. (iii) only

d. (i) w@gd (iii) only e. alewL Gz fuwailsdenso
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4. Assertion (A): In the case of a sphere floating in a liquid, a tilt one way or other
does not change the shape of the displaced liquid and said to be in
neutral equilibrium.

Reason (R): Meta centre (M) coincides with centre of gravity (G) all the time

and it continues to float in all positions.

a. (A) is true but (R) is false

b. Both (A) and (R) are true, and (R) is the correct explanation of (A)

c. (A) is false, (R) true

d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

e. Answer not known

&Bm (A): Hrausdear g WssGL Carenddamer ashHamFuied SHmULTeammeld IFHeITeD
CeueMCWBBLILIBL  HFeush e eaugald LOTBTLI(HEGWD GLed DiFH  HBHIEH6EL
Foplensoulled EHEHGSLD.

aryewid (R): eiBurgid eor. evwowid (M) wmiiy enwowd (G) BeuelyemiBd  @emlest B
eam  GuTmhs  BBUUSTED  ee0euT  Hlewevdeleld  QHTLIHSH  LOSHHS
CaTemng(HH@SLD.

a. (A) gfl spemmed (R) seum

b. (A) wppd (R) Srewmipo af: wBmid (R) spm (A) &g aflwner alendsongd

c. (A) saum (R) &

d. (A) oppid (R) SyewiGn af: guemed (R) gapmi (A) & Filwner ellendsid &i606v.

e. allewL G fwalsvenso

5. Water rises upto a height h in a capillary tube of a certain diameter. The capillary tube is
replaced by a similar capillary tube of half the diameter. The water will rise to a height of
a.4h b.3h c.2h d.1h e. Answer not known
@ GUILL oD O®TewiL  HEW Hlewend  @GLruled Brmeid h  eem L SHBE

BIWILemOUT60  gBBLOML FBSHI. DbHS HIWILDWDS GTWTIH  oBOBTm  urgwere] el L b
CBTeRIL  HlewIGleneNd GLTWITed LTBBLLIGL Gumgl BT HwLEW gBBSHE6T oL LD

a.4h b.3h c.2h d.1h e. alewL OgMuwalsdensv

6. The contraction of volume when ice melts can be attributed to
a. Partial collapse of tetrahedral structure b. Formation of Hydrogen bond
c. Water starts to vapourise d. None of the above
e. Answer not known
ueldslly o (hGHD CUTH DIBHEIMLUI LI(HLOGT (&H6eDBEUSHBHTEN BT 6u0TLD
a. uadldbaLlguile BHIEIE LIgss SLULMWLIL LGSHUIETE] &6D606UHT6e0
b. maml rmer Lemewili 2 (HauTalSTed
C. BT alumessdh OSHTLBIGHeSHTE0
d. @ gaidevenev
e. allewL G flwalsvenso

7. Which of the following is incorrect?
As rain drop descends towards earth
1. Up ward air drag forces increases
2. It comes with zero acceleration
3. It comes with zero net force
4. It comes with zero terminal velocity
a. 4 only b.1and 2 c. 3 only

d.3and 4 e. Answer not known
SIDSHHTERILIOMBBIGT HOUBTE FnByl 61517
wenpshglel yileww Crrésl allup Gurg
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1. Gwed Crréslw sTBHMI DWelmaseT OIHsMELWD
2. &0 (WPWBEHBHSHILGT aU(HLD

3. Qe alenguier WWHIY SHHUL 6T auHLD

4. pppl HewFCausHHer WA FH LGS

a. 4 L @Bw b. 1 wBmnb 2 c. 3 B
d. 3 wBpi 4 e. alewL  Ogfwalsbensv
CHEMISTRY
8. Match the following and choose the correct option:
A. A non toxic glue 1. Chitin in crab shells
B. For long term Medical 2. Glucose oxidase enzyme and iron oxide nano
monitoring particle
C. High performing lithium-ion 3. Glucose and citric acid
batteries

D. ‘Greener” way to clean waste 4. Sugar cubes dipped in poly dimethyl siloxane
water treatment filters

A B C D
a. 2 4 1 3
b. 3 4 1 2
C. 3 4 2 1
d. 4 3 2 1

e. Answer not known
SpdbaremiLiaBens oumbaHd wppid Fllwrer almLmuid CaHboeMBH&HHLD:
A. QLB uvnBHBTET HEFHSHHEMOWBB 1. Hewih @bBHeMe0 2 aiten L 196wt
LIeDF
B. pewiL &me0 WSB! HeWISTmILLIBG 2. GEpHCHTord HHFCLe0 GBI WLBBID S(HLDL
HmFH BTG HIH6TH6T
C. 2 wit QFweddmaien W 695 wibd 3. Gen&EGamead w@BmId Alfld deod
Sjwel GuLLfaerr

D. “ugemw” sfle) BF abHslli 4. utedl emLOGHFHe0 FleoTdhGFeiled HeMerThBLILIL L
QUQHL I9HM6NT &HHD CFUIISBES FTHHMTHEL g
A B C D
a. 2 4 1 3
b. 3 4 1 2
C. 3 4 2 1
d. 4 3 2 1
e. alewL OFflwealsdenev
9. The method of building Nano materials by assembling atoms is called
a. Top down approach b. Bottom up approach  c. Cross down approach
d. Diagonal approach e. Answer not known
Slemibasmen  eeaiml CaTiuSHer cpeold BTEIT  GUT(Hewen 2 (HeUTEHGWD (PeBenU!  EeleuTy]
SN HEVTLD
a. Goed &S DTGP b. SPBHS JTGUHB €. GBIHEG TGO
d. cpemevail L SIemiG(Lpenm e. allewL  Gaflwalsvenso
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BOTANY
10. Which Biopesticide has been proven to be very effective in controlling locusts?
a. Metarhizium acridum b. Bacillus Thuringiensis
c. Trichoderma viride d. Pseudomonas Fluorescens

e. Answer not known

Cou(poseilmws & HUUGSSHIUSHD WS  LWIeTenSHTd  BepLlilbaslul Beten o uli
L& SH0PHTe060 615517

a. Gl Lrengdluid oEfLIb b. urdleverd &iMehd Gluiestslerd

C. 9eny&HBHTELTOT @iiflig d. &BLrGwremmerd . .LiIGemTyFeserd

e. alewL OFflwealsdenev

11. Match the following;:

A. Anilinopyrimidines 1. Herbicide
B.2,4D 2. Rodenticide
C. Zinc Phosphide 3. Fungicide
D. Parathion 4. Insecticide
A B C D
a. 3 1 2 4
b. 3 2 1 4
C. 2 1 3 4
d. 1 2 4 3
e. Answer not known
QUT(HSHIS:
A. 91160CarmLiFLolgeiT 6iT 1. Bam6eN&H6EHTeL6\
B.2,4D 2. a169506&5me060
C. dmdb umerdemLIL. 3. Y6hewFH6HTeL6\
D. umgmgglwimest 4. &g Osmeved
A B C D
a. 3 1 2 4
b. 3 2 1 4
C. 2 1 3 4
d 1 2 4 3
e. allewL G flwalsvenso

12. The chief function of velamen tissue in plants
a. Storage of food materials b. Absorption of moisture from air
c. Synthesize of food materials d. Conduction of food material
e. Answer not known
FHTougmiseied Geusvlioet HFialler (WoHalwl Liewf
a. 2 el QUL semer GaLiliLig b. smBBled®mHEH FILLSHMmS 2 Dichioid
C. o ewial QuTHL Senen SHwImig d. o eyt QUITIHL Bm6N &L SIS
e. allewL G flwalsvenso

13. ‘Guttation’ takes place through

a. Hydathode b. Lenticel c. Stomata

d. Cuticle e. Answer not known

‘Brdsdley’ @FHeT cpevld Henl CUBISBSH

a. ewamL Cxm(h b. GevewngGged C. BMVSBIM6N
d. Ay g6 e. alewL Gz fuwailsdensv
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14.

15.

16.

17.

Match the following:
A. Carrageenin 1. Insulation of boilers
B. Diatomite 2. Dental impression
C. Kelps 3. Irish moss
D. Alginic acid 4. Brown Algae
A B C D
a. 3 4 1 2
b. 4 1 3 2
C. 2 1 3 4
d. 3 1 4 2

e. Answer not known
SIS aUBMBL CLIT(HHS!

A. syredefer 1. Gargseveiseie STULL GQUM(HeIT
B. Lui GLreniol 2. UL LIQLDLD
C. Ga60L1610 3. mflad urd
D. sodeiles oifleld 4. pepliylr undlsel
A B C D
a. 3 4 1 2
b. 4 1 3 2
C. 2 1 3 4
d. 3 1 4 2

e. alowL  GgMwalsvenso

Which is the florist region of India which has the species of Camamus vininlies and
Camamus?
a. Ganga Plain b. Deccan Region c. Malabar Region

d. Andaman - Nicobar Region  e. Answer not known

&TLOMoerD  alefenmeverd BMILD Gswerd Gemismend TN @bHwnalear LobsmLll UGS
83!

a. smmaF Fwblever b. séaran (LFGsaFiD) c. weour LyGshab

d. gpsora-psCsrur MpGssd e, alomL GafNwealsbensv

Z0oOLOGY
The theory of use and disuse of organs was put forward by
a. Darwin b. Weismann c. Oparin
d. Lamarck e. Answer not known
“LDweTur® WLBBIL LWETUGSHST 2 LI’ C&TeTendamul (LPeTGILOTLHHIH6IT
a. Lfredlesr b. Geuuwierd@oest C. @UIBLMesr
d. eomona e. allenL  Gafweaisvensv
Colour blindness is a disease.
a. Iron deficiency b. Air borne infection c. Vitamin deficiency
d. Hereditary e. Answer not known
PBEGHLBG CoTul sreug Grmuwm@L
a. BmbLFHSH GmBLTH b. stBmien OHTHBm C. emaul L 06T &Hemmur(®
d. umpbuflud  gihg e. alleowL.  Gzfluialsdenso
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18.

19.

20.

Assertion (A): Atelectasis means collapse of the alveoli.
Reason (R): Total obstruction of the airway and lack of surfactant in the fluid
lining of the alveoli

a. Assertion (A) is wrong, Reason (R) is correct

b. Assertion (A) and Reason (R) are correct but Reason (R) does not explain Assertion (A)

c. Assertion (A) and Reason (R) are wrong

d. Assertion (A) and Reason (R) are correct, Reason (R) explains Assertion (A)

e. Answer not known

&MHBHBH (A):  DI9LLELTendlerd 6l HIemTUTTeL STBBI HlewenLl BFHLOEML QUBTSLD.

amyend (R): smBmiiutens (Wwupeugid GFsoemLeugl LBBID STBHBI HlewrenLiuier Gumuriiyy
Flyeud GHMBEUBID DG LD.

a. amH3H (A) Hauml. smyewrd (R) &

b. amazd (A) smemapd (R) &M, eemed asmeoid (R) smemsd (A)  alend@austs

SIMLOWIAT606M6V

C. aHHHID (A) srgewipd (R) seum

d. smszid (A) srgemapd (R) M, smeid (R) s@msdms (A) alens@GHnal.

e. allewL  Gafwalsvenso

Which of the following events occur during hibernation in animals?

(i) Oxygen consumption rate is reduced

(ii) Heart beat rate of animal is increased

(iif) The body temperature falls 1-2° C below the environmental temperature
a. (i) and (ii) are correct b. (i) and (iii) are correct

c. (ii) and (iii) are correct d. (iii)only correct

e. Answer not known

GoliTaTen 2 BHs Hensoulled alevmiGHeT E(HEHGSWOLITINS, SLPSHHEIL BBIGT 6IHHISLDE|HET
BOL CLBIBBEI?

a. gLHMINET BHIGTe alFHD GHMBESIILGSH MBS

b. elevkigsaieal @FUWiSHSIglI| DiFHsToHHBHI

C.2 L6 Gauiuplensy sBmIFGGWs0 Gauliupleaevenws el 1-2° C &6 @Hmpamal
a. (i) wppi (i) Ffwrereneu b. (i) w@Bgd (iii) sflwrereneu

c. (ii) wppib  (iii) sfwrereneu d. (iii) wGGw sfwrergi

e. allemL G flwalsvenso

ENVIRONMENT AND ECOLOGY

Match the following:
A. Silent Spring 1. Edward O. Wilson
B. The mismeasure of man 2. Carl Sagan
C. The Insect Societies 3. Stephen J. Gould
D. The Cosmic Connection 4. Rachel Carson

A B C D
a 3 1 4 2
b. 4 2 3 1
C. 2 4 1 3
d 4 3 1 2
e. Answer not known
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21.

22.

23.

SIS HTEHTLIIMBENMB  CILIT(HHSHIH:

A. engevetl erOLIfm 1. elleuT(® g.aMle0& 6or
B. & WG st Guoest 2. a0 BFaent
C. & Bags QFTamnsL 196rD 3. eroleat 62y, GsmevL.
D. & &medifs s6ersbages 4. Gygev HiTEew
A B C D
a 3 1 4 2
b. 4 2 3 1
C. 2 4 1 3
d. 4 3 1 2
e. alewL Oxfweailedensv
Forest Survey of India (FSI) was created with effect from
a. June 1, 1981 b. June 11, 1981 c.July 1, 1981
d. July 11, 1981 e. Answer not known
@hHw euenr uiey (FSI) o meurdsiul (b meL (pedplubGSHSLLL L S
a. egasr 1, 1981 b. egrei1 11, 1981 C. areme0 1, 1981
d. eremev 11, 1981 e. v Oafwealsbensv

Enclosed and essentially self-sufficient (but not necessarily isolated) experimental
environment or ecosystem that is on a larger scale is known as
a. Mesocosm b. Microcosm ¢. Macrocosm

d. Macrophyte e. Answer not known

LUl L oBpid  Sugliuemlulled  Heielonmey  (Suemmed  HellewlubGHsluL  Ceuemigul
Sludlwflevensv) BCFmHenenm @60 Sievevgl (Ul Slealled EHEHGD FBMIFELO0 DIGVLOLIL]| 6168
SIMPSBLILBBBESI.

a. 16GFT&ETFIb b. emioaGyreaTaid c. GuaGyraraid

d. Guw&Gymenu e. allenL  Gafwealsvenso

The largest ecosystem in the world is

a. Desert ecosystem b. Ocean ecosystem c. Grassland ecosystem

d. Forest ecosystem e. Answer not known

Leteu(meuateuBmled 61g o eudlenn LOSIOLMAW @60 LWL 60D?

a. LTED6VAIGIIE @lD60 LDGUITL_GULD b. L6 @Glped WLV  C. LeoGleuelld @Hlpe0d LDGWIL VLD
d. ouend @Lped DG 6VLD e. alenL  Gafuweaisvensy
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UNIT - II - CURRENT EVENTS

1. Match correctly the awards with the Corresponding Recipients:
A.B.B. Lal 1. Bharat Ratna
B. Nirpendra Misra 2. Padma Vibhushan
C. Subbu Arumugam 3. Padma Bhusan
D. Pranab Mukherjee 4. Padma Shri

A B C D
a. 3 4 2 1
b. 2 3 4 1
C. 1 2 3 4
d. 4 3 2 1

e. Answer not known
Ueteupd alhend Db alhemdll CuBBaGITG CUTHHSHIS.

A. 9.9. eured 1. uTyg goHeurt
B. piiupdy Werdym 2. usw alyeger
C. sy omipsbd 3. USHID LLeOgest
D. dgenmy (st 4. usww 1f

A B C D
a. 3 4 2 1
b. 2 3 4 1
C. 1 2 3 4
d 4 3 2 1
e. alewL OFfualedemnev

2. The first satellite to enter into the Sum’s atmosphere is

a. Solar Orbiter b. Voyager - 2 c. Parker Solar Probe

d. Solar - C e. Answer not known

Gl eueMoewTuHHM@SH6T BIWWHS (PHeY CFWIBeNHGHT6I

a. GameonT sy Lm b. eumwGggT - 2 C. umitdasT Gameont LIGyTLI
d. Gameorit - C e. alew OFflwaledenev

3. Match the Column-I (Archaeological Sites) with their districts in Column II

Column -1 Column - 1I
A. Kodumanal 1. Thoothukudi
B. Porunthal 2. Villupuram
C. Tiruvakkarai 3. Erode
D. Adichanallur 4. Dindigul
A B C D
a. 1 3 2 4
b. 3 4 2 1
C. 3 4 1 2
d 1 2 4 3
e. Answer not known
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aflews  [-60 &mawid GxTevedwsd ouley @)L misanen eaufleng I[l-60 o 6iten  SieumMSIeH
LOTeUL L MIS@EHL 6T QUT(HHHIH

aflens - 1 aflens — 11

A. Q&r{BLoenTed 1. BMH3HIHGI9

B. Qummpsev 2. allgplygd

C. FHmeussamy 3. wCym(p

D. sygFgmedeomit 4. HewiHobdHe0
A B C D

a. 1 3 2 4

b. 3 4 2 1

C. 3 4 1 2

d. 1 2 4 3

e. alemL OFfwalsdemnesv

4. Who among the following is/are the beneficiaries of the ‘Education at Home” Scheme
launched by the Government of Tamil Nadu?
(i) Students studying in Class XI to XII
(ii) Student studying Class IX to X
(iii

) Students studying in Class I to VIII
iv)

iv) Students studying in Per School
a. (i) only b. (i) and (iii) only c. (iii) only
d. (iv) only e. Answer not known

SDEHBTERILIIBDBINT SOPS SIFsTe0 SBI(WSLILBSHSLILIL L ‘Bevevld BHpd @Heval’ H L SHHle
uwestmellge wimeu?

(1) uPHCETTETIEI (LPHEL LIGTENTERILTD UG GUDT LIgSH@EHLID LOTERIGITH6N

(i) @eTugl (PHeL LUSHSHTD UGLIL] 6UeDJ LIQSHEGLD LDTEmTeUTSH6i

(ill) @PEIWI (LPH6L 6ILLMAD UG 6UeD] LIQH@GD LOTERIoUTHET

(1v) wipeneowlT Uemefulled Ligdh@EID LOTERIaUTSHGIT

a. () wl @ b. (i) wmmib (iii) w0’ Gib c. (iii) L B

d. (iv) @ e. alewL O flwelsdensv

5. Which among the following statements is not associated with Women in Engineering,
Science and Technology (WEST) initiative?
a. The WAST initiative is launched by ministry of women and child development
b. WEST initiative will provide training for women with Science and Technology
Backgrounds
c. WEST is launched to inspire girls and women to seek and remain in engineering,
science and technology related education and career
d. Under WEST a digital consortium for discussion has been established
e. Answer not known
Uesteupd gnBpisbseilsd “Ourpiiuiwsd, Spslalwed wmpid Gamflsd mIlusdHed Guewisesr” (WEST)
B (WWBFUL 6T OHTLTIe060THSHI 61517
a. WEST Quemtsei wBpId @obenssen GbUTL G DenFFasHSme0 ST misIUL L g
b. WEST gpflalwed oBmid Gasmpleomi u Leitereni Gamemi OLem s endd
C. OQuemidel LOBBID G GHmBHeT CUTBuled, SPlalwed WBBID CHTHEOEI LD G TLTUT6T
sevall BEID OFHTPevBelNed QBT AHHHES 2asGalliusBste WEST Qsrimisiiil L g
d. WEST-&1 &b seub&HIenwTLe)baTeal @b 19891 L 60 &l Lol 2 (HeuTdhaliuL Bei
e. alewL OGFMwealedensv
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6. Assertion (A): Under Export Promotion of India, interest equalization scheme was
formulated.
Reason (R): Exporters are getting, the benefits in the interest rates being

charged by the banks in their export credits.
a. (A) is true but (R) is false
b. Both (A) and (R) are true;
c. (A) is false but (R) is true
d. Both (A) and (R) are true and (R) is correct explanation of (A)
e. Answer not known

apm (A): @phHwmealer gBBILSHML oadbGHaldd allly  FOSLBGHHISH0 HI LD
2 (HeUTSHSLILL L &I
sryewrd (R): IMBBILHHHTE  FHLeIGeMeT LHTer  eully OFHTLTUTET  [HETDLOSHENEI

JMMILLAHWITENTH6T LML 6HT360TT.
a. (A) eteiiug sfl guemed (R) ereiiug) sHeup)
b. (A) v (R) Beweu Byewibd sflwimerg
c. (A)eaaiug saup wppd (R) ereug sflwreng
d. (A) vBpiw (R) Bmeu Byewibo &M wopid (R) eretiugy (A)uflesr sflwimer allendasid
e. alemL OFfluaisdensv

7. The next stage of growth for India’s fintech will come from
a. Income, Investments, Insurance and Institutional Credit
b. Income, Consumption and Trade
c. Investment, Exports and Banking
d. Credits, Repayments and Income
e. Answer not known
@hFHwreiler BFHdH CaTHeOmI L auenTFHullel DIBHIHIENED 6TAILIGHD © 6T6NML IS TnBIH6NT
UmHeUTUl, (LpHeSH, STULIH LOBEBID DIMLDLILFTT SHL GTEH6N
QUHEUTUI, [BIST6| LOBEID 6uewflaD
(WH60(B, GHBMILS LOBBID RIS
FLGHIB6NT, HHOUF CFIHSHIHEL WBBILD 6UHEUTU]
allewL  OFflwaisdensv

P an o

8. Assertion (A): Govt. of India approved the National Policy for Farmers (NPFs).
Reason (R): Many of the provisions of the NPFs are operationalized through
various schemes of the Central Government.
a. (A) is true but (R) is false
b. (A) is false but (R) are true
c. Both (A) and (R) is true; (R) is the correct explanation of (A)
d. Both (A) and (R) are true; (R) is not a correct answer of (A)
e. Answer not known
ampm (A): eleustwisepsatar  Cxfw Oatamassd (NPF) @bhslw  ops  guiysed
D161 SHBIGTENSI.
snyenid (R): eleusmulsepdbarar  Bapdlw  Csteiomaules L  gBUTBRSET  LDSHHLI
odler LGBl S LMIST cpevld CFWIEOLIGSHSHLILIBE T30
a ) eresiug &l epemmed (R) ereiiuigy Heum)
b. (A) essiug seum sypemmed (R) ereiiugy &
c. (A) wppd (R) Beweu Gremi afl. (R) steiiug (A) uller sflwmer efendasid
d. (A) vBpio (R) Bemeu Gyewibo &M, (R) eresiugn (A) ullest seupten allendasid
e. alewL OFflwealsdenev
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10.

11.

12.

Which among the following is/are correctly paired?

I. Mission Vatsalya - Comprehensive rehabilitation of transgender persons

IT. Mission Shakti - Provision of citizen-centric life cycle support to women

III. Mission Poshan 2.0 - Addressing the Challenges of malnutrition in children and
girls

IV. Smile Scheme - Comprehensive rehabilitation of persons engaged in
begging

a. I and IIT only b. L Il and IV only c. IL, III, and IV only

d. L, Ill and IV only e. Answer not known

LetaumeleieuBmien o1&/ eleneu FNWITE BenenibslILL [Heieng)?

I. eurdaeowm Buidbsid - FHmphiensHefer alfleuret LOTBIOIDE

II. 558 Budsbd - QuenisEpd& Glulflend STiHEH eUTDeY (PIPMSGHLD SLFHT6)
GUDIBIE 560

III. Gumsnenr 2.0 Qudsd - GULHDSHHET LBBID Fposeisd o L FFHH GMBUITL Q6T
FAUTELHMGN HlauTHF OFUIFHE0

IV. Smile &t Lib - UFewF a1(hdH@ BUTHeet alfleumer LOmIeUTLD6
a. I wpmo I wBpid b. I, II wmmgi IV w’ @b
c. I, III wmpd IV wl G d. I, III wsmw IV w’Gap

e. alemL OFfluaisvensv

Which one of the following is launched for a unified citizen-centric lifecycle support for
women and to unshackle women as they progress through various stages of their life?
a. Mission Vatsalya b. Mission Shakti c. Mission Saksham

d. Mission Poshan 2.0 e. Answer not known

LetTeu(heuesTeuBmieT  61& OlLIewide HmiGeT eumballed LeCm &L L miSeled (paiiGeinl  6u(hHLD
QUTIRE QHmISlmenihHgs LFTOMLIL LOBBID UTSHISTLIML UPHIGISBSTES Hpeuliul L g?

a. euTHFeOWT BUIbhsLD b. 558 Bussd C. F&HF1D BUIHHID

d. Gumgner 2.0 Bussd  e. ol Oxflwalsdensv

The Mahila Kisan Sashaktikaran Pariyojana (MKSP) was launched by the Ministry of

a. Health and Family Welfare b. Finance c. Industry

d. Rural Development e. Answer not known

Gouenimeust &6l Fobgdl Gubum (G GUEHBHL LD (MKSP) seiumg QFwoubBSHIHIDd DIenDFFHLD
a. SFHTHMD BEBID GHBHU HVSHIHIMB b. PHsHsemm c. Gamsogiemnm

d. eags Guibum’ B Henm e. alewL QFflwalsdensv

Match the following states with its National Highways (km) under Bharathmala Scheme:

States Bharatmala Scheme NH (km)
A. Nagaland 1.193
B. Mizoram 2.361
C. Assam 3.512
D. Manipur 4. 607
A B C D
a. 1 2 3 4
b. 2 3 4 1
C. 1 4 3 2
d. 2 4 3 1

e. Answer not known
SC CBTHSHBUILL (H6IT6N LOMH6VRIBMNT DIH6T OBHBEhFTENEVHET (&H.15.) LMTHIOT60T HI L SHH LG
QUTHSHHIS:
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13.

14.

15.

16.

LOMSl6VLD uTySLomeor H L 5360 OB EhFTenevH6i (&).L5)
A. prETeITHS 1. 193
B. 10@smyib 2. 361
C. sjerveromb 3. 512
D. wewflinyt 4. 607

A B C D
a. 1 2 3 4
b. 2 3 4 1
C. 1 4 3 2
d. 2 4 3 1
e. alewL Oxfweailedensv

Inter Governmental Panel on climate change conference was held in 2021 at

a. Buenos Aires b. New York c. Moracco

d. Glasgow e. Answer not known

Li(heuBlensv LOTBBLD G TLTUTe LetenTl (b SiFdiseien @uwealsr 2021 wibrG HOLOUBB L Lb
a. Lyemerd ouierd b. Buywinité c. QumrymaGast

d. denmero@sm e. alewL QFflwalsdensv

‘Jal Jeevan Mission” was announced by the Prime Minister of India on

a. 15t August 2017 b. 15t August 2018 c. 15th August 2019

d. 15t August 2020 e. Answer not known

™M60 2366 L6196 Sep @bHw UFsw whHfulenmesd pslaldaliur L gi.
a. 15 syseol. 2017 b. 15 gmedl” 2018 c. 15 symerdl 2019

d. 15 gmedl 2020 e. alew Oz flwaleveney

“Every time my coaches who helped me to win a medal at the Olympics have been
removed from my training process and competition”. Name the sports star who said this
a. Lovlina b. Marykom c. Vijendra Singh

d. Dhanraj Pillai e. Answer not known

“e6uCleum(h (LpeMBUD, @edbLlds CuTliseilsd LGHHHLD Oeusdev Hienewr il ererg aleemuT (B
uwIBdwmrent  Opplwment Tt UmGEBGL  wwWIBS  EL(PBUlled(HhHID  LOBMID
Gumlysefel®mbaI bSaUUGHapenT” 6bhd almenwml (B BLFSHID bdHdH TmBOBH
FaSlGuTTT.

a. eveileleurT b. GufBsmb c. alBxmbdy Fmi

d. semrey etenen e. alewL QFflwaledenev

In which City of Tamil Nadu, a floating solar power plant with 25.3 MW DC/22 MW AC
capacity was inaugurated in March 2022?

a. Thoothukudi b. Chennai c. Ramanathapuram

d. Kanyakumari e. Answer not known

HOPBHHe6NeN 6hdH HBJHHe0, 25.3MW DC wpmid 22 MW AC Hsest OamewiL  10HHEGHLID
G@fw HeFshs) Heneowid OFHTLmsl L g7

a. SHIHSY b. Ggeiene C. @UmoBTSHLTLD

d. seefwrgLofl e. alewL OFfwalsdensv
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17. “Desai Award” is associated with

a. Grants b. Autonomy c. Language
d. Trade e. Answer not known

“Capamul al(pal” WLeT OHTLTLemL WIS

a. LomelWmIgbe b. seiem & c. Qump

d. aurgsesid e. alenL  GaMuwalevemnev

18. With reference to the government’s welfare schemes. Consider the following statements:
1. Under the Antyodaya Anna Yojana, the food grains are available to the poorest of the
poor families at Rs. 2 per kg for wheat and Rs. 3 per kg for rice.

2. Under the National Old age pension scheme, the old and destitute are provided Rs. 75
per month as Central.

Which of these statements are correct?

a.1only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

SITFTRISSHHT HEvHHL L misemernll LB, Lleteumd Dipidbamadamend SHeu6muhigbe.

1. opsBwnswm Sisier Curmem L SHHar S, o 6] HTaNLUBG6T eenpd @& BLLmIgGee0
® 6o gJemPHEHHEG Cargiend HGeum &IBISEG 2 dpuTub, Sifd S eeamIbE 3 dpuTUD
2. Gapdlw wHCwT guisydHwd HLHHear S wWwHCWNT wBBID NHTUBCBTHSEG 5. 75
LHHW  @UILSHWIDTS, CUIHLLUTEITE  AH DJ&HHET UPBIGLD OHTBEGHD FnBHEVTH

QUPRISLILBG S BESI.
SPHHEWIL FnBBIHerTe0 eTener Fiflwmenng?
a. 1 @b b. 2 L@ c. 1 wBmb 2 @yewi(hd

d. 1 wBpbd 2 6evenev e. alenL OQxfNwealsoensv

19. Read the passage carefully and choose the correct option (s) from below:
This town is located on the left bank of Nambi River in Tirunelveli district. An excavation
was carried out to search for the roots of the Irom Age culture along the Nambi River
banks. It is a fertile archaeological site and is known for its antiques.
Name the archaeological site.
a. Thulukkarpatti b. Keezhadi c. Vembakottai

d. perambalur e. Answer not known

SPHHTEID LSHFHemuwld Seuelors LIgHHl, Flwmear alenLmuld CsiThosHeHHaLD.

Obs T FHHobeoGeausd TaUlLSHHeD B BP0 @ g SmIuled SenLObHGIeN6NSI. [HLOL]
SBBRISmIUTed EHDLESTD STevFaTIHIHar CalTdamen CHHousBITH Q@H DISHEUTTTUIFS
GuoBOFTaTemTILL L& B& UHISTeL CUTHLSEHHEG Ouwim GuBm @ OFHiLTET CHTeL6IWID
LD @eaelLSFHlar GLw.

a. BHIVSHBITLL Y b. &ipp C. QeubLisBsHm L

d. GuyibLigymit e. alenL Gxflwalsdensv
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UNIT - Ill GEOGRAPHY OF INDLA
1. Sir. Herbert Risley classified Indian races into types
a.5 b.7 c.3 d. 4 e. Answer not known
g1 Gamiur’ Merved, AhHFHw ESemisemern aUMBHeNTHL LIS i6menTiT.
a. s b. 7 c 3 d. 4 e. alewL OHfNwaledenew

2. Which of the following statements are true about India from the following information
which one is correct?
(i) The World’s second most populous country.
(ii) The fifth largest country in area.
(iii) In 2011, population density of 382 persons per sq.km.
a. (i) only b. (i) and (iii) only c. (i) and (ii) only
d. (ii) and (iii) only e. Answer not known
CarGaasluLBereneuppleo gflwmer uHmevd CaTHOGHBHIID EbSHwmensuls LBMIwl  LleTeuHD
SaBOISETED 6Teme  Filulmerene?
(1) 2 el ByewiLToudl &I CHTenE BTLMTGLD.
(i) ugtineneled bHTeUH GUflw BHTLTEGLW.
(il) 20118uD SEwTYeD, WHH OFHTmS SILTHH @b FaHIT H6e L (HdHE 382 GUT SESLD.
a. () wl (B b. () wBmd (iii) W G c. (1) wBpd (il) WL B
d. (i) w@pid (i) o' @D e ol O&fwalsdensv

3. The term used for the event, which causes death and injuries due to sudden rush of crowd
is
a. Stampede b. Procession c. Riot
d. Natural disaster e. Answer not known
GLLSHHS  FleT  eUFTHSHTEL  LDJewild  LOBMID  STWHRISMET  gBUBSSHID  HBHDe|HESL!
LWSTLGSSLILIGLD  FT60
a. lyer FHmGeormi L b b. Guyeuwf C. SH6VAITLD
d. upbmas Guyfeyser e. alewL OGxflwalsdensv

4. Find the mismatched linguistic group and language:

(i) The Indo - European family - Arya

(ii) The Dravidian family - Dravida

(iii) Austric Family - Kannada

iv) Sino - Tibetan family - Kirata

a. (i) and (ii) only b. (ii) and (iii) only c. (iii) only
d. (i), (ii) and (iv) only e. Answer not known

Qmf GuweLer Heuprsll QUTHSHSILIL BeiTen Gomlenuis STewIsb.
(1) @pHwu—xCrmiiu G®wuD - Syftum

(1) SHgrelL @HuD - FlymailLLb

(1i1) ool Mé G HLDLID - BGIGILLD

(1v) HAGem-FHOusHHW & BLouLD - BT

a. (i) wmmib (il) L B b. (ii) wmmb (iii) L G c. (iil) wl @

d. (1), (ii) wBmid (iv) wL G e. alewL OxfNwaledenew
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Arrange the population density in descending order based on 2011 census.
1. Bihar
2. West Bengal

3. Kerala

4. Uttar Pradesh

a.4,1,2,3 b.1,2,4,3 c.2,1,3,4
d.1,23,4 e. Answer not known

2011, wEseT QFHTnd SanbOBGHLITE SigliLienLuled SHH6T COFHTMS DILTHHmL EBEIG
aflewguied euflewasiLBHHIS.

1. dsnit

2. GoB@ euUmISTENTLD

3. Gayenm

4. o S$HIrCsHab

a.4,1,2,3 b.1,2,4,3 c.2,1,3,4

d.1,2,3,4 e. alewL OxNwealeoenev

The main land of India extends between
a. 8°4’ North Latitude to 37°6’ North latitude
68.7’ East Longitude to 97°25’ East longitude
b. 8°4’ North Latitude to 36°6" North latitude
68°7’ East Longitude to 97°25" East longitude
c. 9°3" North Latitude to 37°5” North latitude
68°7’ East Longitude to 97°25" East longitude
d. 8°4’ North Latitude to 37°6” North latitude
68°7" East Longitude to 95°25" East longitude
e. Answer not known
@hgHwraler (pH&IL BleoliLiha) AL G SimLWbHHIeTeNSH
a. 84 e e oIsCrms (s 376’ aldE oI sCrme eauamruigib
68.7" Hd@ HTdsCras (pHe 9725 HpsE HiesGramse ey UFailusTene
b. 8’4 L& oI sCIma (s 366 AILHE I FCIMme aumy
68°7 HipdE Hies Crme (WpHe 9725 HpsE Hies Crms eumy
C. 93 aLdE SILsCIma (s 375 AILHE SILFCIme el
68’7 BpsdE Hrems Cras (pHed 9725 Hipsa@ Hies Crand ey
d. 68°4 au_sE o1 sCme (s 3725 aLsg oI sCrms aemyuisib
68’7 BpsbE STems Crase (IpHed 9525 Hips@ Hies Crand eemyuiaib
e. alewL GFMwealedensv

The “Yanadi’ tribal people of India live in the state of India
a. Tamil Nadu b. Karnataka ¢. Andhra Pradesh
d. Kerala e. Answer not known

‘wreny’ eTIeID @HHUl LRI EeTndbSeT eUT(PLD LOMHI6VLD

a. sOPHTG b. spTLTH c. bHInilyBsaid
d. Gasyenm e. alowL Oz flwalevenso

Match the following:

Dams State

A. Obra Dam 1. Maharashtra

B. Tawa Dam 2. Uttar Pradesh

C. Hirahud Dam 3. Madya Pradesh

D. Kadakwasla 4. Orissa

15| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




00 oo
WRE NN
e N S
NSNS
N W RO

e. Answer not known
SLPHENIL BB CILIT(HSHSHIS.

b15H8HHHID LD 60MRI 61T
A. gupm BTE8%HsHHLD 1. LOSTITORQTT
B. smeur pirg8sésid 2. o S5ATICHaD
C. sraur Br5855a51D 3. wHHW LgGHaid
D. sLssangew BiTHChHoHH0 4. gflgm
A B C D
a. 2 1 3 4
b. 2 3 4 1
C. 1 2 4 3
d. 3 1 4 2
e. alemL OFflualsdensv

9.  Which of the following statements is incorrect?
1. High birth rate and low death rate is known as population explosion
2. The ratio between working and non working population is dependency ratio
3. National Family Planning Programme was launched in 1948
a.1only b.1and 2 c.land 3

d.2and 3 e. Answer not known
Lettou(pld euTdhSWmIS6Ned 618 Heummergl?
1. ogs Uply aldsd BB Gmpbhs SBUL aldsd dhsel FHTems OeugliL] ereiy

SIMPSBLILBHBSH

2. Geouewev OGEUILATHEHEGSGLD Gouewer OCFLILITHATHEHHGHWD SewLulevmenr al&Hbd  FTiTy
al&lHLoTGLD

3. 1948 gub spemih CaFlw GOhbwUS SUGUUTL (S SHLLWD CHTLBEISLIULL H

a. 1 @ b. 1 wBpb 2 c. 1 wBmbd 3

d. 2 By 3 e. alew Oxfwaledenew
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UNIT - IV HISTORY AND CULTURE OF INDLA

ANCIENT INDIA
1. Assertion (A): Paninian Sanskrit though simpler than vedic is still a very
complicated language.
Reason (R): Every beginner finds great difficulty in surmounting Panini’s rules

of euphonic combination (Sandhi) the elaboration of tendencies
present in the language even in vedic times
a. (A) is true but (R) is false
b. Both (A) and (R) are true; and (R) is the correct explanation of (A)
c. (A) is false; (R) is true
d. Both (A) and (R) are true; but (R) is not the correct explanation of (A)
e. Answer not known
apm (A):  urenielwer Fwedd ks, Cuspdhms alL sab eeflemowrs SmHbSTOID i
Wsab Fobseomer GLOTHWTGLD.
asmyenid (R): g@eiQeunp OFHTLssHEMT, utaieiulesr B eapseF Gaibama aldHsamer
GuBosmetaugled GLHLD FAgwdHensd GCBOBTeTS ETB60TT.
a. (A) sl spemed (R) seum
b. (A) wBpd (R) sy Gyewibo &f; wBpd (R) eewg (A)-Ser sflwumer alenssorELid.
c. (A) soup oo (R) &
d. (A) wppw (R) swdw Byewi &f; auemed (R) eaiug (A)-Qer sflwmer allendsiosen
e. alemL OFfluaisoensv

2. According to whom, the Harappan script is not alphabetical but mainly pictographic in

nature
a.J.P. Joshi b. S.R. Rao c. R.S. Sharma
d. N.G. Majumder e. Answer not known

‘amrliueT eI(WSHSHIF6T IF eufldalilg eV LeTTeL  FHHTaATUIGOLIY DIMLOHSIETENSHI’
eTITLIG! WIM(HeWLW! SnimI?

a. Gm.l9. Gmrad b. erer0. oy, g6l C. SYT.6l6rd. &iom
d. eerg). wadibgmt e. alewL OFflwaledenev
3. The Maitraka clan established a kingdom in Gujarat with its capital at which
soon became a seat of a learning and culture.
a. Malave b. Valabhi c. Gauda
d. Kamarupa e. Answer not known
MDGHTHT GO GHWITHHL QH DINF DIGHET HMEUBSITR Ao Hmelwug,
915 almyaled SBMeL OBMID HEOTFFTIHHET @ 10T TG
a. LomereurT b. ausdeva C. Qe
d. smoemum e. alewL Gxflwalsdensv
MEDIEVAL INDLA
4. Before the second battle of Panipat, in Delhi had assumed the title of ‘Raja
Vikramjit'.
a. Bairam khan b. Salim Khan c. Hemu
d. Kiya khan e. Answer not known
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APPE> L0
STUDY CENTRE
CHENNAI

@rewiLmb ureiul Cummsb@ (e GIs0edluied GTEMILD LDGSTEUIT  ‘Jmenm  eiéybegld,’
6l UL SHe0FH Gimid et miT
a. eUJTID &Tesr b. g6Sib sment c. Gamp
d. dwr smer e. alewL OHfNwaleenew
5. accepted Akbar’s Din-i-Ilahi
a. Birbal b. Mansingh c. Toder Mal
d. Tansen e. Answer not known
oi6Uflar Ha1 Qevranlenul gmmIs OlETemTL T
a. Lumed b. wreidm c. GxmLimpmed
d. srei0Fer e. alewL OHfNwaleenew

6. Name the epic poem written by Padmagupta the court poet of Paramara empire
a. Nava - Sahasankah - Charita b. Naisadhacharita
c. Trikalingadhipati d. Kalingattuparani

e. Answer not known
ugongll  Gupgdler  ogmeud HalehT UHW GUETaler sTalwd Salmsulear Guiumys

GBULIBS.
a. peu - Famsms - FlHm b. epgTHFisd c. gflsaimagsiug
d. semissHHIILITeni e. alewL OxNwealsoenev
7. Choose the right matches among the following;:
1. The Forty - The Chalisa
2. Razia Begum - Ruknuddin
3. Diwan-i- ariz - Finance Minister
4. Balban - Barids
a. 4 and 3 are correct b. 2, 3 and 4 are correct c. 1 and 3 are correct

d.1,2 and 4 are correct e. Answer not known
S GUIUULLauBBled gfllwrer QUTHSHSHISmensd CHiTe] Gguis:

1. ..Gunir g - gedam

2. @ydlwr Gusld - (HBHIGH6I

3. Heunelr & gyfled - HiFH SiMDFST

4. LIT6OLIGHT - umflen

a. 4 wppb 3 & b. 2, 3 wBpb 4 & c. 1, wppb 3 &
d. 1, 2 wBpd 4 & e. alewL O flwailsdensv

8. Match the following:

Historians Books
A. Alberuni 1. Qiran - Us - Sa’Dain
B. Minhaj Siraj 2. Tarikh - I - Firoshahi
C. Amir Khusrau 3. Tabaqat - I - Nasiri
D. Barani 4. Tarikh - I - Hind
A B C D
a 4 2 3 1
b. 1 2 3 4
C. 2 4 3 1
d 4 3 1 2
e. Answer not known
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10.

QUIT(HSSIH:
augeormmTdflwiTaelr LS SHBMISH6I
A. 916060UemHeT 1. Ayer - 2 a3 - FOHuiles
B. Weiagy Fyrey 2. ifld - § - GuGrTervaTd)
C. a1t &ayg 3. HUTHS - & - BT
D. ugewf 4. s1id - & - aflbs
A B C D
a. 4 2 3 1
b. 1 2 3 4
C. 2 4 3 1
d. 4 3 1 2
e. Answer not known
Pluralism is the keystone of Indian .
a. Culture b. Democracy c. Religion
d. Federation e. Answer not known
LST(LPSSHSHIDLD 6TeTlgH @bl GMLD6VSH6TT  QLGLD.
a. HEUTEFFTTSHS 60 b. sepTuIsd 6 C. DSHSHFH6H
d. galLmdlufes e. alenL  Gafweaisvensv

Which of the following is incorrectly paired?

A. Kavalgar 1. Police Officer

B. Talara 2. Superintendent

c. Begara 3. Watchman

d. Senateova 4. Village Accountant

a. (B) and (C) b. (A) and (D) c. (A) and (B)

d. (B) and (D) e. Answer not known

Leteu(mheuaiouBpled SHeummsd EenentdbdLLL (heTen Senenidamend GHiTh0gHHdHaLD:
A. smeususit 1. Gumeded o1&

B. seomgm 2. &6ENISHT 60T LILITET

C. Guamym 3. @meueumerl

D. Gran@LGuimeur 4. &ymiod HenTSHT6NT

a. (B) wmpib (C) b. (A) wpmid (D) c. (A) wppid (B)
d. (B) wspid (D) e. alowL OFfNwealsvensy
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UNIT -V - INDIAN POLITY

1. Identify among the following statements that is/are true about political parties in
modern democratic states?
1. Conservative parties believe in status-quo
2. Political parties are classified as per India ideologies
3. In India, Communist Party of India (CPI) and Communist Party of India (Marxist) CPI
(M) are examples of rightist parties.
4. Radical parties are rightist conservatives parties are leftist and liberal parties are

centrist
a.land 3 b.2 and 4 c.1and?2
d.3and 4 e. Answer not known

polel MSMBTWS DIFiseie IFuwed sl Fasmens uBpw eeumbd SHHHIH6Ts0 gfluimer
B(HSHDIHBHENET  DIGHLWITNLD BHTEwI&b.

1. LpemoaITHS &L FH6T LOTBBLOELEVT HeL (PenBEerled BLOLIbme OsTeasiBeiTene.

2. oflwed &L FH6lT HHHTHIRIS6TILIG 6UMSLILIGSHSLILIBEEIBE.

3. @bgdwreled @pHw syl sid (CPI) wipib @badw sbuweiedl sl d (wrrsdledl)
CPI (M) aydwemen euevgl gmild &L HsEhs@ 2 HTTewImHISEN.

4. Haly WLIBBHMS MAOWBISSHID SLFAB6T  eueOHIFTIWTSD, LIPOTHE — SHLFlEHei
@Lgismlwrsab STITeTeauTHs S FH6T BHbHHmevd &L FEenmeaid &(hHSHLILIBE HImB6T.

a. 1 By 3 b. 2 wBpb 4 c. 1 By 2

d. 3 wBpb 4 e. ol GFflweisdensv

2. Which article of Indian constitution mention about the development of scientific temper?

a. Article 51 b. Article 60A c. Article 51 A (h)

d. Article 61 A e. Answer not known

@paw  opdfweoenwliiear  epsl  Lflelled  opfleluled  webHleneoulet  euenTEFS  LBSH
GBI LU Beitengy)

a. ifley 51 b. 1ifle 60 A c. Ufley 51A (h)

d. 0fley 61 A e. alew Gafualsdensy

3. Which of the following statements is/ are true about the Council of Ministers and the
Cabinet?
(i) A Cabinet is the head of one or more departments
(ii) The Ministers meet jointly and frame the policies of the Government
(iii) Ministers of State and Deputy Ministers do not have a share in the formation of
Government policies
a. (i) and (ii) only b. (iii) only c. (if) and (iii) only
d. (i), (ii) and (iii) e. Answer not known
SIMWFFTHT G wBpd CasUen OummeHeuemy &S CETHHSLILIL (H6TEN  eUTSHE LIMISHEN 60
gl / etemeu gflwimenig)?
(i) 9w Gallel SMWEFT QDI DeVevH DSBS CLBULL HENBHETNET HeneveUT
(ii) omwssFTser gmiLres Calba DJFTEISSHHE QBTETMHHMET 2 (HeUTHESHBMTTSH6I
(iil) oWsFThHeESHET CBTATMBHMET 2 (HEUTHGHH6D HMEUMD (BTTEITHIS) DIGMIDFFHT LOBBID
gy (HIemewT) DIMIDFFTHEHDHE LG SenL WImg
a. (i) w@pib (i) wr Gid b. (iii) ot (ib c. (ii) pmid (iii) o BLd
d. (i), (ii) wppd  (iii) e. alewL Ogfwalsbensv
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Match the following:

Match correctly the borrowings to Indian Constitution from other countries:

A. Parliamentary Democracy 1. USA

B. Fundamental Rights 2. UK

C. Directive Principles of State Policy = 3. Canada

D. Federation 4. Ireland
A B C D

a. 3 4 1 2

b. 2 4 1 3

C. 4 2 1 3

d. 2 1 4 3

e. Answer not known

SLPHEWILeUBenBL CILIT(HSHHISH:
UmpThseledmbs Bbaw SiFdweveamolitiBp GuBLULL euBems FhwTsll CLT(HHHs:

A. UTITEBLOGIB  (LPeDX  LOSHSETTL &) 1. o6wfesT

B. ogriuen. o fleniosei 2. DRISTHS

C. apa Opp(wenss Gsmumbae 3. SeILT

D. gL g 4. SIWITEOTHSI
A B C D

a. 3 4 1 2

b. 2 4 1 3

C. 4 2 1 3

d. 2 1 4 3

e. alenL  OFMwailedenev

Which of the following statement/s is/are true in connection with Fundamental Duties?

(i) To promote harmony and the spirit of common brotherhood amongst all the
people of India transcending religious, linguistic and regional or sectional
diversities; to renounce practices derogatory to the dignity of women

(ii)  To develop the scientific temper, humanism and the spirit of inquiry and reform

(iii) Maintain just and honourable relations between nation

a. (i) only b. (ii) only c. (i) and (ii)

d. (i), (ii) and (iii) e. Answer not known

SIQLILIDL  HLMIDH6T OHTLTUTR LISTQIHD FnBmIBened 61gI/ 6Tenal 2 amIenOUIT6Temn61?

i) ws, GQumf wopw dArmpSw Seveos Uifley CupTGsEhsE@ DILTBULL SbHW LobS6IT

wHHUTNL  HevedledbslD, OuUTHiauTe FCHTHIHIHIMUGHMSB mebGHalHHe0 LBBID ClLew a6 e

semieniHmdH BNOUBGSHHID LIDSIHRISN6T DEHaT[HFH60.

ii) oflelwed LeriLmeemD, welld GhWID, elgTymer WBBID FTHHDHS 2 awie] SLEULIMBMD

QUETSHBHIH OB T6iT(ETHEH60D

iii) prBsEpHS LG BuTwioTer WBBID CseMITeT 2 BeyHament GLEmISH

a. (i) L Bw b. (ii) o (Bib c. (i) ppnd (ii)

d. (i), (ii) b (iii) e. alewL Qpfwaisoenso

What is the full form of CERC?

a. Customer Education and Research Centre
b. Consumer Education and Research Centre
c. Consumer Education and Relief Centre

d. Customer Education and Retail Centre

e. Answer not known

CERC &gt afiflourdasid ereitenn?
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a. UMYHMSWITENT Heval LOBBID SITUIFS MWD
b. msTGaunT Heval OBBID SPTUIFS LDWID

C. BISTCNT Heval LOBWID [HIEUTT6ET MLOWILD

d. amgsbamaswiren &eval OBEID FeV6VemNH EHLOWILD
e. alenL. Gafweailsdenso

7. Identify the wrongly matched: Major scandals in India

Year Description

1.1994 - Telecom Scam

2.1995 - Hawala Scam

3.1996 - Fodder Scam

4.2001 - The Tehelka Scam

a.1only b. 2 only c. 3 only
d. 4 only e. Answer not known

SHUBTET CILITHHHIHEN60 HWILNl5:

@pHwmaled BLHS Gufiu oarpedH6

QU(HLLD allend LD

1.199%4 - OzTemev GHTLITL] 261p60

2.1995 - QUBEUTEVT  28TLD6D

3. 1996 - U 2616V

4.2001 - OHBHEOSHT 261|P60

a. (1) @ b. (2) w B c. (3) wL (B
d. @) w’ @ e. el O fwalevemnsy

8. The Supremacy of the Constitution is maintained by

a. Independent Judiciary
c. Co- operative Federalism
e. Answer not known

b. Parliament
d. Procedure established by law

Sigemwliier Goeieno e cwpeold LFTORSSILIGSBSH

a. sHIATOTET BHSSImD
C. gnl_(ppaileomer dnl LTl &
e. allemL G flwalsvenso

b. BILTEpL06sID
d. sLLD augHHIS CBTHEHS HL (OB

9. In India the real executive authority rests with

a. The President
c. The Council of Minister
e. Answer not known

b. The prime Minister
d. The Civil Servants

AhFHwraled o ewrenowimer DHSTID Wil uUTSHhas STenrl LGS BHI

a. GQUWTSHSH FHeN6LEUT
d. @eniors uemiuwimernit

b. My wHHM
e. allewL.  Gzfluialsdenso

C. HIMFTFT (D

10. Match the followings (with respect to Directive Principle of State Policy):

A. Socialistic principles

B. Gandhian principles

C. Liberal principles

D. New Directive principles

A B C D

a. 4 3 1 2
b. 3 4 2 1

1. Uniform Civil Code

2. To protect and improve the environment

3. Community development programme

4. Equal pay for equal work for both men and women
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C. 2 1 3 4
d. 1 2 4 3
e. Answer not known

SIPHHMILaUBMBL QUT(HHHIH: (ITd aublaT B Cbpsise)

a. QurglaLenp ClFTeITendHH6IT
b. spPws QETeTensH6N

C. HMITeNaUTsH OlBT6ITenHSH6IT
d. ydw eufam G OCpppanpss

1. QuTgl Gl &FLULLD

2. sBEBIFGLMe0 CIbLBSHSHIH LOBBID
STLILITBBIH60

3. Faps Gubur (BGsH HU LD

4. oW1 oBBID WwHefiTeHE FoBaiemendE

OBT6ITeNHBH6IT FID 2MFHUID ULDHIGHHIH60
A B C D
a. 4 3 1 2
b. 3 4 2 1
C. 2 1 3 4
d. 1 2 4 3
e. alenL  OgMwalsvenev

11. Match the following Statement I and 1II:
A. Heart and Soul of constitution
B. Protection in respect of conviction for offences
C. Prohibition on human trafficking and forced labour

D. Prohibition of employment of children in factories etc.,
A B C D

1. Article 24
2. Article 23
3. Article 20
4. Article 32

a 1 2 3 4
b. 3 4 1 2
C. 2 1 4 3
d 4 3 2 1
e Answer not known

ulgwed I wmmpid uluwesd I sfwrsl QuUTHSHSIH:

a. SIIFweoamolILler @GHUID OBBID  LEvTLOT

b. @BBRIGEHHEHTHT HEwi et GHTLTLITET LITSHIBTLIL

C. LBHD HLHHNESG WLBBILD DIYMOSHMHIHBE HML
al&HdsLILIL (BeiTengl

d. GsmPBaTmevsailed GHWHMBHET OHTIHeUTENTHENTTS
DIDTHHE Gl TS

A B

1. alg 24
2. ald 23

3. aild 20

4. a0 32

C D
2 3
4 1
1 4

=W N

3 2
alenL  Oxflwailsoensv

oA oo
=N W

12.  Which of the following are correctly matched:
1. Habeas Corpus - To command

2. Certiorari - To Certity
3. Mandamus - To bring the body
4. Prohibition - To prevent

b.1 and 2 are correct c. 3 and 4 are correct

e. Answer not known

a.1 and 4 are correct
d. 2 and 4 are correct
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13.

14.

15.

SLpa(HeUTaUBBIAT 6lened FMwmed CUTHSHSLUILIL (HeiTeng

1. o GameorT BAIGUITTEn6wT - &L LenenuilL60

2. Opps (pedm 2 mIGHHID BHAHGLIFTeN 6w - gmeIBer & &H60

3. QFwIBISSHID HAICUTTEN6TT - QUHEUMTH OBTEI(H  6U(HIH6E0

4. sOLWBISSH BHIIGLITenemT - 565360/ PBiHSHe0

a. 1l wppid 4 sflwrerenel b. 1 wBmd 2 slwreeney c.3 wBEId 4 Flwmerenel
d.2 wBpd 4 siwreiee e. allewL  Gaflwalsvenso

Who among the following called the ‘Preamble” of the Indian Constitution as ‘Identity
Card of the Constitution’?

a. Jawaharlal Nehru b. Sardar Patel c. N.A. Palkhivala

d. Subhas Chandra Bose e. Answer not known

OhHw  DIFweoemolle (PHeMImL  “‘OIFulsd FTFAISHHET DDLWITT S enL” 6T6Isl
ST ILIBLITH6T60 WTT Snpsluig?

a. Yeauamiteomsd Gm(m b. gitamm LGL 6L C. 61601.6J. LIT6V&IGUT6VT
d. surerd FHFHy Gumerd e. alewL OgMwalebensv
Match the following:

President Tenure
A. Fakhruddin Ali Ahamed 1. 24.8.1969 - 24.08.1974
B. V.V. Giri 2.25.7.1977 - 25.7.1982
C. Neelam Sanjeeva Reddy 3.24.08.1974 - 11.2.1977
D. Zakir Hussain 4.13.05.1967 - 3.05.1969

A B C D
a. 1 2 3 4
b. 4 3 2 1
c. 3 1 2 4
d. 1 3 4 2
e. Answer not known

GRWIT&HS HENEVEUT ugHald HTeoD

24.8.1969 — 24.08.1974
25.7.1977 — 25.7.1982
24.08.1974 — 11.2.1977
13.05.1967 — 3.05.1969

a. UBHH D60 DIBHLOGI
b. af.af.&M

C. Hevld FehdFell Ll
d. ;gnaSt o _Ggai

.

A B C D
a. 1 2 3 4
b. 4 3 2 1
c. 3 1 2 4
d. 1 3 4 2
e. alenL. Gafwealedenso

“The Right of Citizenship cannot be taken away from a citizen except through an express
Parliamentary Legislation”. This is related to

a. Ebrahim Wazir V State of Bombay Case

b. Hukam Singh V State of Punjab Case

c. M.C. Mehta V Union of India Case

d. Ramachandra V Union of India Case

e. Answer not known
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16.

17.

APPE> L0
STUDY CENTRE
CHENNAI

“@ueurgdl  Gluflenenwl BHTLTEHLSBF FULHHer cpeoBoweanl GCoup euemnduied LoHss
GLTH". DHFmBB THMIL 6T OHTLTLEHL UWIH?

a. @ugrdb eudT V ubumul &a aupss,

b. amésd A V uehaml opa apdss

. 6. A.BwHHT V @bl eemsiuid eupdE

d. gmoggnpadyr V. ShHul @emiuid eupdE;

e. allewL G fluwalsvenso

Assertion (A): Judicial activism is inherent in judicial review.
Reason (R) The scope of judicial review has extended beyond the domain of
rights to include executive policies and legislative in action

a. (A) is true but (R) is false

b. Both (A) and (R) are true, and (R) is the correct explanation of (A)

c. (A) is false: (R) is true

d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

e. Answer not known

a&Bul (A): pHéssmpuisT WBEFOFwWeLTEH BHULaTTUIaIEIeT 2 6T EhemBha HLILGS.

aryewid (R): malliuerymuiey Cpmea g g6t UTLIGELGVEM6OULITEIS] o flemwo 61GDILD
CrwevgemibIHBGH CuBOsFaip  Smwssremeuular S Ld CoTeTemsasemeNLLD,
FLLLOWBBID Siemeusbeiar GFweleamwemnuiu|d Bmenihdid CoTems (BeiTend.

a. (A) o _ewenin: yemmed (R) seum

b. (A) wppd (R) BremipGo gf: (R) eaiug (A) aljarer Fuimer ellendaonELd

c. (A) saum: spemev (R) 2 _ewienio

d. (A) oppid (R) SrewiGGw af: auemed (R) eiaiug (A) alBsren Fwmer alendaoTHs)

e. allewL  Ggflwalsvensv

Match the following;:
Doctrine Nature / Tendency
A. The Doctrine of colourable legislation 1. Supremacy of Parliament in legislation
B. The Doctrine of Non-Obstante Clause =~ 2. Competeting entries interpreted liberally
and need harmoniously

C. The Doctrine of Harmonious 3. Determining the true character of
Interpretation legislation
D. The Doctrine of pith and substance 4. Tendency towards centralization
A B C D

a 1 2 3 4

b 4 3 2 1

C. 3 2 1 4

d. 4 1 2 3

e Answer not known

SDHEWILUBenB  CILIT(HHHIH

(A3 (1 (20Y: 3 gateno [/ Gurdg

a. aurby &LbH FULD Suppid Csmurh 1. sl L wuBBIeuded LITITEMHLOGITBG I 601
o Wihd Hlenev

b. sewuleveond g LblwBmid G un® 2. Gum’eiensd &1L 1OWIMBeD
SITITETLOTS LD, EN6001E5SHLOTEH LD
allenéaLILI(heugl

C. Qewidsone alendadhder Cariur® 3. FlLwBmedlel 2 euoTenLOUITes
GTHMBH SHTIOTENLILIG]

d. augeud BEId 2 eitendad Gamun® 4. spowlILBhSHHmev CHTHEHF OFe0LaID
Gursg
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18.

19.

20.

21.

N
RN WN W
N =N WA
Wk R

a
b.
C.
d.
e. alenL Gaflwealedenso

Consider the following function of the process of the Parliament and choose the correct
answer:

1. Money Bill represents the will of the people

2. Delegated legislation is not subject to review of Parliament

3. Power of Amending the provision of the constitution rests with the Parliament

4. The Parliament can assume legislative power exclusively referred for the state subject
a.1and 2 only b. 2 and 3 only c.4and 1 only

d. 3 and 4 only e. Answer not known

LITJTEHLOSIBHH T SpbHemiL Lisnldemend HhHHd, Fflwmer almLamwd CaibosHbHaHeaLb.

1. uewt WGFTHT &6 alBULSMS LIFHBSHSHBHIMILBGHHISBSI

2. @uuyalliygF FULLD UTITEHOSIB WK SpUIaHEG 2 UL D606V

3. opFomwiLysF FLL 2 pliysmend HmpSIHD CFUwd  HSTIHMSL  LTJTEHLOGIBLD
Camewng(HHH M.

4. LUMITEHLOGIBLD, LOTHEVRISEHSHG W FULIOWBEBILD 61606N60HG6T B(HEGLD DHBTIHH 6 g
FLLID @uIBD (Wb

a. 1 Bp 2 Wi {Hw b.2 wBpib 3w G C.4 wBmIb 1 WG

d.3 wBmid 4 w G0 e. aleowL  Oafwalsbensv

How long can the Rajya Sabha delay a Money Bill?

a. 14 days b. 21 days c. 31 days

d. 10 days e. Answer not known

LOTHlIeVRISETEn6 LIewT LOGFTHTEn6U 616116166 HT6VD UMT HTOSHLILIBHHHEOTLD?
a. 14 B ser b. 21 el C.31 BT &6l

d. 10 B sei e. alewL  Oafwealsbensv

The appeal from the Federal Court of India established by the Government of India Act,
1935 was taken by

a. Viceroy of India b. Secretary of State for India

c. King of England d. Privy Council

e. Answer not known

1935 odlweoemoliyF FULSST0 Bpeuiul' L Sl LTl g pHlwermshale0 Gwed (pemmuilb
aBSHSHIH OBT6TEMILLL Gl

a. @hHFHW meUerOFTLITED b. @b SpasdHEB CFUWeOTETITEL

C. @mFeUThHEH DIFFTT6EV d. Gsmoems EIBHSHTED

e. alewL GEMwealedensv

Consider the following statements:

In the words of Dr. B.R. Ambedkar, Directive Principles of State Policy are the “Novel

Feature” of the Indian Constitution because,

L. These principles are in the nature of general direction or guidance to the state

I1. They embody the principles or objectives and ideals which Union and State
Governments must bear in mind while formulating policy and making laws.

Which is the statements given above is/are correct.

a. I only b. I only c. BothIand II
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d. Neither I nor II e. Answer not known

BIDHHEWIL  UTHBILIBIBM6NTSH  Her6.

Dr. Oy, oubBushanm ampwstags “opa eauflsmly Gsmumbser, SbaHul DFFeioliiler

FLLSHS FHILLL FmBTGh” ebereisme,

L. @emad BILIgeT UPSTLIQUITS DIENLDHSIGTEITE.

II. HH W OTHEL DTHH6T FHID FLLMISN6NU|LD, OFBTeTendHmenuild DuBmId CuTH Beneu
o Halwns B(HdHEGLD.

Baummled 611/ etenen Fflwimertene?

a. I @ b. II w’ (i c. I wmp IT b
d.Ib evemev Il b Bevewev e. alewL OQFfwalsdensv
22. Defence Minister of Interim Government of India in 1946, A.D.
a. Sardhar Vallabhbhai Patel b. Baldev Singh
c. Gopala Krishna Gokhale d. Bala Gangadhara Thilak

e. Answer not known
&lU. 1946-D SLewih SIOLWLIOLBE Sl SETeL BhHUl DFFT LUTHSTIL DIDDEFFTTSH

BmbHeu.
a. FTsMT eueveoLITUI LILGL6d b. ueBgmei Fmi
c. Gamumev d(magent GoraBsv d. uTeERIBTHY HeVsT

e. alemL OFfluaisoensv

23. Who is the Chairman of fifteenth Finance Commission of India?

a. N.K. Singh b. Dr. Y.V. Reddy c. K.C. Neogy
d. K.C. Pant e. Answer not known
@hFHwraler LHmaIbTeus BHd GHUpealer SHemeveuT uwim?
a. N.K. fmi b. Dr. Y.V. GQyL1g c. KC. pBwrd
d. K.C. ups e. alenL OxfNweaisoensv
24. The 86th Amendment of the Constitution led to the inclusion of a new that

made free and compulsory education to all children of 6-14 years of age.
i. Article 21 - A

ii. Article 22 - B

iii. Article 23 - C

a. (i) only b. (i) and (iii) only c. (i) and (ii) only

d. (ii) and (iii) only e. Answer not known

SIrdlwevenolIlel  86-6ughl HHHSHWD, 6-14 UUISHDLU DMNHBH  SLHMBBEHHGHLD BeveudF
BB SLLTWES SHeval eles LS ald(pens oW CaTds aufleudHHsHdl.

(i). Ofley 21- A

(). 9fey 22 — B

(iii). fey 23 — C

a. (i) wmpId b. (ii) @b (iii) w’ Ho c. (i) wmmub (i) L G
d. (i) wpg (i) wi ED e el Gsfwalsdensd

25. of Constitution gives special status to Jammu and Kashmir from 1954 to 2019.
a. Article 230 b. Article 370 c. Article 480
d. Article 560 e. Answer not known

afweoenoliyF gL Odfley 1954 (1psHed 2019 euedy MUD(IP BBID SHTORUSHSBESGHF
B DbHEVSHI GUIPHISIUIZ)
a. Ufley 230 b. \fe 370 c. Ufley 480
d. Ufley 560 e. alewL QFfwalsdensv
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26.

27.

28.

29.

APPE> L0
STUDY CENTRE
CHENNAI

Identify the article in the Constitution which provides reservation in services to the
scheduled castes and scheduled tribes for not being adequately represented.

a. 331 b. 332 c. 334 d. 335 e. Answer not known
STDSHSLILLL  Bpid  UpkGIuUier WédseEhdGl Curgiotear LUFSHBasHasen Ee0eomenoemul
sfwevenioliienr 6hd o L Lifle CFameuseled @ HIHSL 196060 aULDHIGS B

a. 331 b. 332 c. 334 d. 335 e. alenL  GaMuwialsvemev

Who is not the member of recommending committee in the appointment of Chief
Information Commissioner by the President of India?

a. Prime Minister of India

b. Leader of opposition in the Lok Sabha

c. Chief Justice of India

d. Union Cabinet Ministers nominated by the Prime Minister

e. Answer not known

Uereupld o miilenTeelled  wiT  GQWIs HmeoauJmed HUWLOSSLILGLD — HEmeVeD  HBH6U6D
ST USHalbsTer LfboHimIs Gupaled GL b GLBTHeuT?

a. @baHwll UgsLoT b. wosenemer aHTHBL g Henevel

C. @hHWSH HMeVMD BHAILIG d. dgsopmed Hundsbsiul L wsHW SIenFT

e. alowL  GgMwalsvenso

Article that deals with prohibition of trafficking in human beings and forced labour.
a. Article 47 b. Article 17 c. Article 16

d. Article 23 e. Answer not known

welldpd SLHHMVSH SHmLOFWEH uUBBlwb, sLLTW 2 mwliiBgd SHeTariubeamsHd
SmL0FWIeugh uBBlud elaumdld@d Spduwed FlLn Lfley.

a. Ufley 47 b. Wfley 17 c. ey 16

d. \fey 23 e. alenL  OaMuialsvemev

Find the correct and / incorrect matches among the following:

1. Article 338 - 1: National Commission for Scheduled Tribes.

2. Article 333: Representation of the people of the Anglo- Indian
Community in the Legislative Assemblies of the States.

3. Article 331: National Commission for Scheduled Castes

4. Article 330: Reservation of seats for scheduled castes and scheduled
tribes in Lok Sabha

a.1, 2,3, 4 are correct b.1, 2, 4 are correct, 3 is incorrect

c. 2,3, 4 are correct but 1 is incorrect d. 1, 3, 4 are correct but 2 is incorrect

e. Answer not known
FpsHMIL_auBplev 61g Fllwns wBpIDd / Heuprsll QuTmHbE uleTend?

1. ailg 338-LNfley 1: ULDMIGIQLoHHEHHETR CHFW SO0 DIHLOGH60

2. elg 333 mBlev  FULl Guyemeuseied RIS Ce0T-EHAHUIGT LD D ETHSHHTET
B ssiaid aIpmIE e

3. elg 331: ulpweden WHHEHHBTRN CHFW BT DIHLOGH60

4. alg 330: UDRIGY Ger BBID LI IQUIEIET LDSHSHETHHDHTE LDEEH6Tene6

CaTGHH 660 HONHOHTGHHH6T PHIHHH CFUIHE0

a. 1,2, 3,4 simensgaid g b. 1, 2, 4 gfl, syemed 3 I BHID Heum

c. 2, 3, 4 M, gpeomed 1 WL B Heum) d. 1, 3, 4 M, gemed 2 wLGD Heusl
e. alemL G flwailsenso
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30.

31.

Article 15 (4) clearly speaks about

a. Socially and educationally backward

b. Inadequate representation in backward a class service

c. Free and compulsory education

d. Weather sections of the people and includes the expression the SCs and STs
e. Answer not known

giriifley 15 (4) eemzll uBPsh Oselanss smpIFBs?

a. gepsd BEID Heval FHWTE Ll e

b. Ueismadw poHsefa SUQUILIDLWITET Liewidamentl LBhles gnpidngl

C. Beveug LOBEID S LTWS Heval

d. ulwederd, WemeVAITD SID BEID MIEIGMBHS LSBT 2 ulTe)sH6lT
e. alemL Gz flwailsvenso

Match the following judgement with its pairs:

A class of citizens and if the caste as a whole is socially and educationally backward,
reservation can be made in favour of such a caste on the ground that it is a socially and
educationally backward class of citizens within the meaning of Art.15(4).

a. Periya Karuppan Vs State of Tamilnadu

b. M.R. Balaji Vs State of Mysore

c. P. Rajendran Vs State of Tamilnadu

d. U.S.V. Balram Vs State of Andhra Pradesh

e. Answer not known

SpdbHemi HTlenerll QUTHGHSLOTe Devewiu] e Gt

“grgl  (PWGIOTHS Fepd WLBBILD  Heval  Heneoseied LIBULIQHBSTE0, SIFFUICUELOLIL|F
glLSGHer 154) Ufleler GummeT auIbLIBGLULG SFFTH SHeval LBBID Fepd  Heneouled
LUBUL (BeTenoses &HH DSBS B PHISSEH GFuiuieord”

a. Quflw s@miueT Vs s0HTH & b. M.R. umeured Vs ewio@T SI5&

c. P. @mBxpalyet Vs s0pmih Sip& d. U.D.V. uedgmb Vs ybdyc1 1N8ssF ois

e. allewL  Ggflwaisvenso
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UNIT - V1 - INDIAN ECONOMY

1. Which of the following statement/s is /are true of the Agriculture of India?
i. India is the world’s largest producer of tea, sugarcane and some oil seeds.
ii. The sources of “Green Revolution” have made India self-sufficient in food.

a.ionly b. ii only c. Both i and ii

d. None of the above e. Answer not known

&8 OCaThdslul(heTeneeuBmeT GbhaHwmale eleugmuid OCFHTLTUTET FRWTET  FBBIGSH6IT
eTemeu?

(1) 2_cvsetaled @phHwT BCxhullenev, SH(HIDL OBEID 6TewIGeTU1 alendHdeT 2 BLSHHUTIED (LPSHeIIL LD
S HHBSI.

(i) usemwll Yyl duler ewpeoond GbHWT, 2 ewiey o BuUHHUTeD Heelenme CLBMICTSH.

a. (i) w (@B b. (i) wl @G c. (1), (i) s Byewi(Bid
d. GuBampPlwemfed edHaD Be0emev e. alowL OFflwalsdensv

2. According to the NITI Aayog, CWMI, 2018; 21 Indian Cities may face Day Zero in coming
years. Day zero refers to the day a place is Likely to have
a. No Drinking Water of its own b. No water in the cities
c. No water for industrial utility d. No discharge from industries
e. Answer not known
NITI Aayog, CWMI, 2018 @61 wulg, eumBD yeniGHefed 21 @bH  HEIHIS6T [BT6I
UBMwHmse  aFHTosmeiend B  BTel. UMmeub e6aug b BLiFHar  Ohs
BTEN6T & GBS S BSI.
a. CemhaloTe GYDHT E6060TsH BIT6lT
b. parhiseied Hewienfit Esvevrd [HT6I
C. Oamed HIMBHEHES SHeWIIT E)GV60TSH [HIT6IT
d. GsmPBaTenevseiled Bmbal 6hd SWaBHD CalelGuBTS HIeT
e. alemL OFfluaisdensv

3. The Public - Private - Partnership in India is systematically meant for investments in

Choose the correct options:

a. high - priority public utility services
b. increasing infrastructural facilities

c. both (A) and (B)

d. National Defence alone

e. Answer not known

OhFHwraled, QUTHISHIENB LOBEBID HWTT HOB Tl B (PHSBH6T HOBHHHH HlwBH6TeL
FTHHWID eTalend 0Ffe] CFuls.

(weataifleny QuBB CUTEHIL LweTUT (hdh HlenmHeTed
2 GTBLLEMWLIL UFHBM6T DIFHMHD

BB @M L (A) wbpd (B) wlGw

Cxpdlw urgisTiy OFvalamismen IHHMNHH
allewL  OFflwaisdensv

N

4. The Gandhian model aims at the reform of as the most important sector in
Economic Planning in India.
a. Agriculture Sector b. Industry Sector c. Service Sector
d. IT Sector e. Answer not known
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sMhHW  wrgHflwmerg DbHwmaled CQuTmHemTHTy HL O 6dar 1W0&s (PSS WIDTET  HeHBUITS
o FTHmbBHamd CHTHHIoNES 6HTaw (BN

a. alleusmusdh Hlewm b. GsmPsd Hiewm C. uUemilsh Hlewm

d. ssaed GMPBI LS Hlenn e. alewL OFflweailsbensv

5. The major objective/s of the government to setup the Planning Commission in India are
(i) To promote a rapid rise in the standard of Living of the people by efficient use of the
resources of the Country.

(ii) Helps to increase the production and offering opportunities to all for employment in
the service of the Country.

(iii) Do not have the responsibility of making assessment of all resources of the Country.
a. (i) only b. (i) and (ii) only c. (ii) only

d. (i) and (iii) only e. Answer not known

@hFHwraled HLE GHUHmed DIMDLILSBEHTET SIFFTRISSHDH6 (WoHBW ChToHSmISenTeU6T WITH?
(1). BTLIQET 6UETRISMETSH HMEDLOWITHL LILIGTLIGSHSHIOUSHT (LPeVLD OSSN UTDHMBSH HTSHH 60
allenyoure (WaTCaBBHmSHE 0lBTet (H6eu([HSH6e0

(il). 2 _pusFomw FENES 2 FHaHeL, BT DMTHII LienlHeMNeID DienaTelhHEHEHLD
Gemeuey EUTUILILIBEMET  GULDHIG)SH60

a. (i) w @b b. (i) w@p (i) G0 c. (ii) WL (B

d. (i) wBpw (iii) wi L e alowL Gzflwalsens

6. is not the main objectives of special economic zone
a. Generation of Addition Economic activity
b. Promotion of Export goods and services
c. Creation of employment opportunity
d. Reduction of Income Inequal
e. Answer not known
fAmliy CQUIHEMTSHTT  LOGWIL 60601 CpToHsd D606
F(BH60 OUITHONTHTT [BLEUQYHNBHEIT O (HEUTEEHED
gmuInd QUTHL 6T BBID CFemeusel GLIHBHLD
GouemeveumuiLiL] 2 (HeUTEEHSH60
QUHAUTULI FLOSHSHIOILOITENLD (GeNMBEHH60
allewL  OFflwaisdensv

RSN

7. Choose the correct answer:
Assertion [A]: Development increases the quality of life.
Reason [R]: People will have higher income, better education, better health and
nutrition, less poverty.
a. Both [A] and [R] are true and [R] explains [A]
b. Both [A] and [R] are true and [R] does not explain [A]
c. [A]is correct and [R] is false
d. [A]is false and [R] is true
e. Answer not known
gflwrer allewLedwdh BpiTey GCFUIs.
ammml [A]: GuUT® ATDSMBSH HIHMH 2 WITHSHIEMBS.
amyewnid [R]:  dseit oy soner eumeutul, fmpbs Seval, 2 160 [HeOD WHBEBID 261 1L FFHHI,
GOBHS aUBIENLD GLIBICUTTSHEIT.
a. [A] ommbd [R] &yewiG sflwnergl, wppid [R], [A] e alend@@mal.
b. [A] wBpid [R] 8yewibn gfwrerg [R], [A] eeu alenssaistenso
c. [A] sfwreng wBmid [R] Heupmerg
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10.

11.

d. [A] seupreng wimbd [R] sfwimeis
B. alewl Ggflualsvenso

The Book ‘Planning and the poor’ is written by

a. Shriman Narayanan b. M.N. Roy c. Mahatma Gandhi

d. B.S. Mindhas e. Answer not known

‘HULOL6D OBBID M’ 6TEID LSHSHBLD SIUTH6NTEL T(LYSHLILIL L F)
a. WJLDGIT [BIJITUIGH0T 60T b. emb.eredr. gmul C. LDSTHLOM &HMbHI)

d. d.ererd. esTammerd e. alewL OQFfwalsdensv

Which of the following is/are correctly matched?

1. Minimum Wages Act - 1949

2. National Textile Policy - 2000

3. Steel Authority of India Limited - 1968

4. Workmen’s Compensation Act -1923

a.land?2 b.1and 3 c.2and 3
d.2and 4 e. Answer not known
BHHHTEILmEUUND 6151/ eTenel @urr@g,g,mrr& o eiteng)?

1. GOBHIULF 2aHuiF FLULLD 1949

2. Caflw eayefld OameTens - 2000

3. @hHw 6.".& BnleueId - 1968

4. Gamfeomeniadel @OULIGF &FLLLD - 1923

a. 1 wmmpnb 2 b. 1 By 3 c. 2 @b 3
d. 2 @y 4 e. el Gz flwelsdensv

The rationale for setting up of UPPAL Committee is
a. For accelerated rural electrification programme
b. To resolve problems in cattle fodder

c. Integrated pest management

d. Survey of waste land

e. Answer not known

‘UPPAL" @uemer SedwlusB@Gs STyenid

a. 2a7s LOIOWITSHSHE FH L HMeHH SHIMSILGSSHIMS
b. smeopmL Houet HbBe0BMmeNd Hidbd

C. QMHEIBmenhd LFF Gosomeniento

d. sfls Peomismen oiuia] OFulaig)

e. alewL OFflwealsdenev

Who referred the Sarvodaya Movement Philosophy as a fuller and richer concept of
people democracy than any we have yet known?

a. Vinoba b. J.P. Narayan c. Anima Bose

d. Sankarro Deo e. Answer not known

‘BTD BFHleum] DBIHIHMBAIL  DHSH6T MEIBTUISHSH 6T HleDBEUTET 2 WITEUTET &H(HHHIHHM6N D
CamewiLeney FTGauTHWT BuibsdHHer CoHTLLTBH6T 6161l FnnsluleuiT

a. allGermum b. Geg.L9.BrymuIewT C. ojeior Gumerd

d. smsCyr 19Guim e. alenL  GaMuwaisvemev
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12.

13.

14.

15.

What basic need does IAY fulfill?

a. Water b. Clothing c. Housing
d. Food e. Answer not known

aTetenl SlglILenL & Bpemeusdwl LiTHha CFuIsmg?

a. euwrewiit b. syemL c. oi®

d. o ewiey e. oL GFflwelsvensv

The major objective of Pradhan Mantri Krishi Sinzhayee Yojana (PMKSY) is to achieve
a. “More crop per drop” b. Agricultural credit available to farmers

c. Crop Insurance d. Crop Improvement

e. Answer not known

Mysb whAN Sfled dargmul S LsHear (PMKSY) Grrosid, eangd ienLuwt GeuewtHid?

a. 6aloeurm slefldb@d SHs LulT b. gmaisa alaFmulseEbdEGd alaudTuld Sl 6
c. uuire smiih d. uuldT euenr&d)/ (peiGamBuLd

e. alemL OFfwalsdemnsv

Match the List I with List II and select the correct answer using the codes given below:

List I List II
A. Employment generation programme 1. Minimum needs programme
B. Social Assistance programme 2. Swarna Jayanti Shahari Rozgar Yojana
C. Human Development programme 3. National Family benefit scheme
A B C
a. 2 1 3
b. 1 3 2
C. 3 1 2
d. 2 3 1

e. Answer not known
ulgwed T wommnd ucuied I & Gurmsdd S8 Osmhassliul (Beten Filwmear el amul GxiTey
OQFu1s

uliguied I uligwieo 1T
A. Gouemevaumuili] o (heurdhsd S LD 1. ophd ULF Chemeusel S LD
B. geps o sealsh HLD 2. eroeuTemt Oywibd FammhGrmervait Guimegent
C. waig Gubur’ BsH S LD 3. Bxpdlw @@HWU HeEn S LD
A B C
a 2 1 3
b. 1 3 2
C. 3 1 2
d 2 3 1
e. alewL OFflwealsdeneo

Choose the right answer:

Total fertility rate measures

a. The number of live births occurring during the year per thousand population.

b. The total number of deaths per year per thousand population.

c. The number of women of reproductive age dying due to maternal causes per one lakh
live births

d. The number of children born to women during her entire reproductive period

e. Answer not known
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gflwrer alewLemwsdh Bxiey GFu1s

QUTHHE HMHAHHL AIBFHD DleTalBID (LHPEDOBEHEIT.

a. 1000 W&FHETOHTMHHESG @ UBLSHH60 B Crry LIBLiLseier 6leuemnidbma

b. ouind wEHEeT OFTmEHEGH @ MUBLSH BEHD Cords BBliyseler eewienishma

C. @@ ool g Uplysefed HTUleufl STJewmiSeNTed EBHGD SIOUmHSS  UUIGHIDL W
QLIGKTH 6T 60T 6T630T6001 b 6M

d. Quemisefesr (1 BIGLBHBHS BTOSHHMID LIBHS GLWHMSHHEMNET  cT6wTemnTdm®

e. alenL Gafweailedenso
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5.

UNIT - VII INDLAN NATIONAL MOVEMENT

Iswar Chandra Gupta’s remarkable journal was the training ground of many
distinguished writers.

a. Nil Darpan b. Amrita Bazarika c. Samvad Prabhakar

d. Kailasham e. Answer not known

FooauT  FhAT  GusTalar GPEUILSHIE  uSHFHMbend Uev  Usoumm
(WSHTenTHeien LUIBFEHeOTS SHHDHIHI.

a. [H60 HiTLIeoT b. oufiter uTegTidbasT C. gFlbeurd Lgunssi

d. ewsevraid e. alewL OQFfwalsdensv

According to the view of B.C. Pal was the Prophet of Indian Cultural
Renaissance.

a. Bankim Chandra b. Aurobindo Ghose c. Hem Chandra Banerjee

d. Navin Chandra Sen e. Answer not known

.8, umeler &(hH&deLig ObhFHw HeorFFTT oBIweoTFF Ul SHTdhaHfldwmeuni.

a. U DSFHATT b. eaiibsGsmed c. Gamib FhHy uTeITEY

d. peier ghdy OCFer e. alewL Oz flwalsvensv

“In a sense Akbar might be considered to be the Father of Indian Nationalism. At that
time when there was little nationality in the country and religion was a dividing Factor.
Akbar placed the ideal of a Common Indian nationhood above the claims of separatist

religion”.
Who said the above statement?
a. Jawaharlal Nehru b. Motilal Nehru c. Mahatma Gandhi

d. Subash Chandra Bose e. Answer not known

“omuibgl UTTHSTeL, DisLmT DhoHw CHwsHer SHmswLTeds HHSH GeusmiB. SieHenL U
&TVSHH0 CaHFlILBB  GHMBaUTHAD, WHD HILMLL Hateyubdaid FoHHWTED EHHSHH.
oBUT el  Uflelmaurshismennd $mabHd, ObHd BLHH0 @bhHw CHFwid erem
(WeGatmguimes OUTGI LOGILILITETNOMUI  (LPETeneUSHSTT 616l Fnpsluleui wimr?

a. Meauamiteoms0 G b. Gurdevmed Grm C. LOBTHNH SHHI)

d. suted apdy Gumerd e. alewL O flwailsdensv

Read the following passage and answer the question whose religious view is expressed
here:

“If I found myself entirely absorbed in the service of the community, the reason behind
it was my desire for self realisation. I have made the religion of service my own, as I felt
that God could be realized only through service and service for me was the service of
India. Because it came to me without my seeking, because I had an aptitude for it”.

a. Swami Vivekananda  b. Mahatma Gandhi c. Rabindranath Tagore

d. Rajaram Mohan Roy  e. Answer not known

etteu(pld LSHedWL! L9 HHl, @60 WmHenLwl WwHLuTTeney GeuailILGES B TaILMSHS FnBaLd.
Brel Fepd Caemeuulled (pUpemLWITES FHULIQHBHITED DSBESHDH STITWID &Ll 2 6wITHeVISHST6T
aevigl all(BULGL. Coemeuullasr cpsod DL GO SHL6yeneT 2 6wl (LPIQUILD 6THIHI (BT 2 6WITHSTEL,
BT CFemer 613 WHHMDH 6leidh OCFTHSH LHOTHHCeaie. eaidbGHF BFemeu eIaiLGH BHSHUl
Bxemer. gOTIHIBTEL BT DwHSH CHLMOECL I 6l LD UHSHFH. HTIEWID HGHS 6T6vT60NL LD
BBHsS.

a. gaumd alGeusTenbsm b. wa&rHor b C. @IIbHIBTSH STl

d. ®yregmymb Guorsest grul e. alewl GOFfluwalsdensv

Who among the following published the first newspaper in English Language in India?

35| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




a. Gangadhar Bhattacharya b. Rabindranath Tagore

c. James Augustus Hicky d. Ram Mohan Roy

e. Answer not known

WeteupueuTaeler @haHwmaled (1pHed Symisler CFUIFHHTemen GeueMuil LeuT wimT?

a. sEIBTHT Ul LrFgmiur b, @ibHymre SHrami C. Bxuberd HFHEOLEN sl
d. gmb Guomeest Fmul e. alenL Gz flwalsdensv

6. Which of the following resulted due to the frequent famines in British India?
a. Retarded Agricultural Growth
b. Mass migration of population from Famine stricken regions
c. Serious tensions between the zamindars and peasants
d. Utter lack of agriculture surplus
e. Answer not known
spsemni Ul pweded Uflyead @hsHwmaled Digdhsly LEhFD gBULLSHET aleneneuTd BLbHDHHI
616316017
allougmw euenT&HAuled Lleitenienle| eBLL L Sl
LEhFHIHT60 LTHSSILULL LGHHaie0 @mbH HH6eT GUmHwenaled &L 1D QUUWIMHSTTSHENT
DT HTTHEHSHGSGD aleusFTulsehdESGh LG SHewTer USBBLD gHBLL L G
alleugmw o ufluled LBBTEGmB GHBLLL .
alenL  OFfluiaisvensv

can o

7. Read the following passage and answer to the question based on the passage.
Passage 1
Mahatma Gandhi said, “I deplore the criminal indifference of parents who keep their
daughters utterly ignorant and illiterate and bring them up only for the purpose of
marrying them off to some young man of means”.

Select the best implied from the following regarding the afore-said passage.

a. Strong measures need to be taken by parents for the overall progress of their
daughters

b. The working condition of young men needs to be improved for marrying women

c. The working condition of young women needs to be improved for marrying men

d. The women facing dowry problem

e. Answer not known

&8 OamhdalIulBeTen USHHmw auTHHH DGl uled Gsl sl (heTen GoeialdEndE
allenL_ule.

usa 1

STHOT HMHFH P Teugml “Hev FTHTTT BeneTEhTHEHHGHH H(HLOID CFUIH OBTHHEGLD
CrTosaHHMITHH SRIBET LOBHETHM6T (LPHBNRIID SPSIWTen oBEE@ID UliLplelsbeors Hensoulsd
meubsG CuBCBTiar GBBL Frbhs DL AWSHBEHTE au(HHBHISCB6T .

Guopaeni  LUSHHUIHHSH 2 (HeuTel SHDEHHMILneudbeiled FBhHe LOMBLPHLOTET  aledL il
BxHOSHBHBMLD.

a. FmF6eT aeseia QUG Orshs auaTddesdHs CoHameuwmest &SHD HLEUIYHMBHBHMENL
QuBGLIT 61(hdH®d Geuemi(BHLD.

b. Guemisemend Hmwend QFliusBETE Banenehiseflen QFweoUT B Hevew (LPaTGarBmLiLIL
Beuemt(BLD

C. OemenEhiTdemnen H(HewID OFUISBHTHL Gueamiseiar GFweOLTL G Hlenev (WerrGemBmLiLIL
Bouemr(BLD.

d. Quewisell auIHL Fenewt LNJFHMRIBM6N Fha) B MTHe6N

e. alewL Oxfweailedensv
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10.

11.

12.

“The Great Tragedy of Indian Partition” was written by

a. R.K. Sharma b. S.S. Sharma c. V.D. Mahajan
d. S.N. Mehta e. Answer not known

“@baHw Uflaleeruier Gumb GFrsbd” HIeDeL 61(pSWeuT

a. or.8s. &mom b. ererv.ererd. &iriom C. al.lg. LDSHTYEHT
d. ererv.ereir. Gogsm e. alewL OHfNwealedenew

Though the country and the people may be divided into different states for the
convenience of administrative activities, the country is one integral whole?- Who said
this?

a. Rajendra Prasad b. Jawaharlal Nehru c. Bhimrao Ambedkar
d. Vallabhbhai Patel e. Answer not known

pifeuTad Qgweounhseier ugFhdars BTHD WwoHDHEHD GleusiGaum LOTH6eV

a. QmBxmpaly Urans b. meuamiteomed Grm c. Libgmell obGug T

d. euebeoumus L BLed e. alewL  OgMwalsdensv

was the first Indian to go to jail for having discharged the duty of a journalist.
a. Bal Gangadhar Tilak b. W.C. Banerjee c. Lala Lajpat Rai
d. Surendranatha Banerjee e. Answer not known
T usFHfdmaswnenrs UslwWTBBWSBSTE  HoBeHEG  D@IUUILLL  (LPFH6V
@b & WIFTeuT.
a. U6y SEISTHI He0bi] b. W.C. urenired) C. 6UTEVT 6URLIL Jmul
d. sGyhaymErs umeTed e. el GFflwelsvensv

“At the stroke of midnight hour when the world sleeps, India will awake to life and
freedom..” said by
a. Mahatma Gandhiji b. Jawaharlal Nehru c. Bala Gangadhar Tilak

d. Subhash Chandra Bose e. Answer not known
2 sl o BRHSCETEIYHBISGL @b BHelalyey CHrHaGe, @hHHWT  HeTenienL Ul
o WIGIM L SCHTHD oBE@ID FFHHAT 2 ewiTe L ibd aPHHIECBHTHTHBHI 61601 FnpsileuT.

a. W&THT HMH b. mauamievred GH(H C. UM60 SHMIBTHJ H6VHT

d. sures ghdy Gumerd e. alewL OFflwaledenev

Assertion [A]: Muslim League celebrated the ‘day of deliverance” on 22 December
1939.

Reason [R]: All the Congress Ministries in the provinces resigned in protest of

the Viceroy’s announcement on India joining the Second World
War without consulting the Congress.

a. [A] is true but [R] is false

b. Both [A] and [R] are false

c. Both [A] and [R] are true and [R] is the right explanation

d. Both [A] and [R] are true, but [R] is not the right explanation

e. Answer not known

ammml [Al: (PerOeSid 68 22 19FIbUT 193960 IS L] [BTenTes’ GBmTEmILMuig).

sryeon@Ld [R]: Sbglwraiet DAUGTOTLL Bbglw Cxpdlw BIBIBTEnE
BOHSTCOTHSHTIOED  AbhHwrad  @yewiLmeug o evsll  Guried
OMHHHTH PSS HTeL  DIMTHFH  LOTHTE0T  HTHISITErD
O|J FTBIBBIH6IT SHHIB6IT T o1 QeuaflliLmLms SIJFTBIG
CuTBIIIed(HbESH aflevdleriT.
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a. [A] #f, syemed [R] Heuml

b. [A] wigid [R] BresiGl soup!

c. [A] wmib [R] @yewiGid &M, Gueuibd [R] sfwimer allendasiongib.

d. [A] wigpb [R] ByewiG &M, epemed [R] aflwner ealendsid £i6060
e. alewL OFflwealsdenev

13. Asalawyer Mohandas Karam Chand Gandhi, got his first fees of Rs. 30, but he refunded

that to his clientin ____ court.

a. Bombay b. Delhi c. Rajkot

d. Durban e. Answer not known

GTHaTHTO0 HJDFhHSH HMhHF, SHTIEIMLU UDSBBIEHT (LPHEL GU(HLOTEIDOTS UMM H.30 Wl
AL W B Fdb HTHHCH Gamitigev HHUNd GBTHSHIHIOTL L.

a. ubumul b. GL6v6ed C. @yreGasL

d. Litues e. alewL QFflwealsdensv

14. At London Museum, Dr. B.R. Ambedkar’s statue was attached with the statue of

a. Vincent Churchill b. Abraham Lincoln c. Karl Marx

d. Lord Bentick e. Answer not known

GUENTL 6T DIHRISTL AwssHHe0 LISLT L.oyT.owwbusstier Heweo wmmenLw  FlensoGuim(®
BememntHBUILIL (HEITeT G

a. a@IoFaI. FTFHe0 b. syigsmbd edmises C. SMJ6L  LDT&H6r0

d. Queingmis gy e. alewL QFflwaledensv

15. British arrested Subash Chandra Bose on 24th October 1924 A.D. and sent him to Jail.

a. Tihar b. Andhaman c. Kolkatta

d. Mandalay e. Answer not known

&, 1924-b uewiG SiHGLTUT g 24-b G, aumad shaly Gumed mSGCwrmed mad
Cuwiu’ G ____ FlooBFsmencod@ SeILILILILILLTT.

a. et b. ebgoTes C. Q&BTeLHHHT

d. wrewi_Gev e. alewL OFflwealedenev

16. Match List I with List II and select the correct answer using the codes given below the

lists:
List I List I
A. New India 1. Lala Lajpat Rai
B. The People’s Friend 2. Bipin Chandra Pal
C. Vante Mataram 3. Dadabai Naoroji
D. Rast Goftar 4. A.O. Hume
A B C D
a. 2 4 1 3
b. 3 1 4 2
C. 4 3 2 1
d 2 1 3 4
e. Answer not known
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18.

19.
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uligwed T o e uligued I sy QuImSHE, UL QUILEHERHGHH 6 2 6Ten  OFHTGUILINI(HHS!
gflwrer allenLuilemend G fley Gauis.

U iguied I U iguiev 1T
A. Py 8phHwr 1. 6uTeUT 6UERLIG FTUl
B. & diyeterd .. yewi 2. Udesr gphdly umed
C. aup@s Lomgyb 3. grgmurul GprenGymed)
D. gmedl Gam..Limit 4. ¢.g.anuyld
A B C D
a. 2 4 1 3
b. 3 1 4 2
C. 4 3 2 1
d 2 1 3 4
e. alemL OFfwalsdemnesv

Match and choose the correct answer from the code given below:

A. Bala Gangadhar Tilak 1. Voice of India

B. Dadabhai Naoroji 2. Madras Time

C. Macaulay 3. Kesari

D. William Digby 4. Minute on Indian Education
A B C D

a. 2 4 1 3

b. 3 1 4 2

C. 1 3 2 4

d. 4 2 3 1

e. Answer not known
UeteupenteumenmLl GuThsHs Fflwmer alemLmwis Bsxiey OFuis.

A. uTev FHHRIBTHTT VBT 1. @pFHuiraler @red

B. srgmumul GpenGrmed) 2. Gl gmerd emL Lberd

C. GussrGs 3. Bmal

D. aflebedwib 19811 4. @bHws seval GMISHSH GHMILIL®6T
A B C D

a. 2 4 1 3

b. 3 1 4 2

C. 1 3 2 4

d 4 2 3 1

e. alewL OFMwealedenev

The Marathi fortnightly newspaper ‘Bahishkrit Bharat” was started by

a. Ambedkar b. Mahatma Gandhi c. Jyotirao Phule

d. Kaivartas e. Answer not known

ITHHuled Bremih aumrhHBE& @b (Wwmp Geueflwng usbHfmaswrer ‘Uadaddhsd UTTHMmS’
QBT Mg W6

a. SGug e b. warHwrs SHTHSH c. Garggmen 14Gev

d. ewaeauTsmerd e. alewL OFfwalsdensv

The whole village was treated as a unit as far as payment of land revenue is concerned.
The system is

a. Ryotwari b. Zamindari c. Mahalwari

d. All the above e. Answer not known
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Blov aumaUTU! OFISHBHINMSL CUTBISHEUMT (LY SITOIPD Q@H DIVSBTHDS HHSLILILL S
bGP

a. ®ywgbeur b. sgifleigmi C. amedeur

d. CuBenss SmasaId e. alalL Oefwalsamed

20. Where was Hindustan Republican Association reorganized into Hindustan Socialist
Republican Association?

a. Delhi b. Bombay c. Lahore

d. Bhopal e. Answer not known

BhFHIVSHTET  GHQUITSH FhESD 6RG bHBEOVDHTE FOHTD FUPS GQUTHF FRISLOTS DD
FremnSBIILIL L &1?

a. FHevsl b. wibumy’ C. 6UTEIT

d. Gumumed e. alewL OHNwaledenew

21. “Acharya Vinobha Bhave, was selected as a first Sathyagrahi by Mahatma Gandhi” after
he completed the speech on

On 17t October 1939, when he was delivering speech in a village, near Lucknow.
On 17th October 1940, when he was delivering speech in a village near Wardha
On 17t October 1941, when he was delivering speech in a village near Gandhinagar
On 17th September 1942, when he was delivering a speech in a village, near Kolkatta
Answer not known

0 BLOUBB gl LSHHe0 o _emgumBpiu el srhlwigset spFgmmur ealGemur urGeu
SIUTHMET “(PpHev FHHWTHTH” a0t CHTHOSHBHSMIT.
1939-b Wi SISHCLTUT 1710 CaHgl evdbCaimalBE SimEBled 2 66 @ HITLOSHH60.
1940-0 ouewi® SSCLTUT 174D Cogl aunTHTalBE D(HPed 2 _6Ten @h ST D60
1942-0 ouewi® Gelibur 1710 CaHdl SMbHHBEMHES DIHBHID 2 616N @ SIS S0
1942-0 oewi® G LT 17-b Cagl CBTeLeSHSTAIBEG DIHFEL 2 66N @h SITLOSHH60
alenL  OFflwailsvensy

o g

o an o
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UNIT- VIII : HISTORY, CULTURE, HERITAGE AND SOCIO - POLITICAL MOVEMENTS IN TAMIL
NADU

1. Which of the following about Kamaraj are true?

i) He was arrested under Section 74 of Salt Act

He was released on March 12, 1931

He came to be closely associated with Rajaji during the election of 1926.

~—~
[E R
e =
e N
~—

—~~

a. (i) only b. (ii) and (iii) c. (i) and (ii)
d. (i) and (iii) e. Answer not known
mmmgmﬁuammg'}@eb b FmBDIB6ET STOJTRT UBMEF FhlwTereneu?

ST o 1y gL Ufley 74-1 S ewsedH OFuiwiul L.
ST omTF 12, 1931-b ewih alBHemev OFuwIwLL L.
ST 19260 Wi CHTHede0 prMTSluL et  OBHEHFHOTS  Bewewihdh OGFUIGOLIL (B

o
. e N
=

—~ A~ A~
SR
o

~—"

GUHSIIT.
a. (i) w@o b. (ii) wmmb (iii) c. (i) wmppib (ii)
d. (i) wBpib (iii) e. allenL GFfwalsoensv
2. Match the List I with List II :
ListI List IT
A. Puli Thevar 1. Siruvayal
B. Marudu Brothers 2. Dindigul
C. Gopala Nayak 3. Anamalai
D. Yadul Nayak 4. Nerkattumseval
A B C D
a. 1 2 3 4
b. 4 1 2 3
C. 4 2 1 3
d. 1 3 2 4

e. Answer not known
ulwed Ied o efeniews Llguied 11 o L &1 GQUTHSHHIS.

uguied I uguieo 11

A. yeds Gameu 1. dmleuuted

B. wma s@sngyiser 2. FHlewi{hebsHe0

C. Gamumeo HTUISST 3. SLEMEIOENEV

D. wrgied mrwisbsit 4. QBBaL (BHLOFaIED
A B C D

a. 1 2 3 4

b. 4 1 2 3

C. 4 2 1 3

d. 1 3 2 4

e. alewL OFflwealsdeneo

3. At which district conference, ‘Justice Party” was converted into ‘Dravidar Kazhagam'?

a. Salem b. Kanchipuram c. Vellore

d. Kovai e. Answer not known

‘bHbBFwnend’ ‘HImalLT SPSHLTS 6hHH BLHHO BLbSH LOTHTLIQE OTBBLLLL g7
a. Gzeuld b. &rehdfLyid c. Geugyrit

d. Gsreme e. alewL OxfNwaledenew
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4.  Which of the following activities were associated with the Justice Party?
(i) It gave representation to Dravidian Communities in the public services.
(ii) The Government took over the power of appointing District Munsifs
(iii) Poramboke lands were not allotted to the people

a. (i) and (iii) are correct b. (ii) and (iii) are correct c. (i) and (ii) are correct
d. (i) and (iii) are not correct e. Answer not known
SIS HEWILeuBMIeT HaHHHL Huller o ewieniowimer LicwlaseT 61517

(i) Quraniueiseied Hrmall WsHEHEGI LTHBHHHH6UD CETHILG.

(ii) mel L pHUFSmem Buwbled@d Qumpiien SFemmhisCL  6mmid0sTemrL g).
(iii) ypBWOUTHE BevhsmeT WHBEHHE PBISSEH CFUILITON EHHSISI.

a. (i) wi Gw (iii) sAwrerg) b. (ii) wi Gw (iii) sfwrens

c. (1) i @w (ii) sfwmerg d. (i) w@w (iii) seupTenas

e. alewL OFflwealsdensv

5. During the Quit India Movement in Tamil Districts:
(i) The workers and common people participated in the movement.
(i)  In Madras, the women observed Hartals.
(iii) The workers of Buckingham and Carnatic mill involved in the strike
(iv) The Madras port trust, Madras corporation workers participated in the strike.
a. (i) is correct b. (i) and (ii) are correct
c. (i), (ii) and (iii) are correct d. (i), (ii), (iii) and (iv) are correct
e. Answer not known
S el L misefled GeusTenenwiGear OeuefCup BuisssHHlen GuT
i) OzmPleoTeniTael OBBID CUTHILEST DB BUSEHDH0 HeUbHHIS ©OBHTEUIL 6.
ii) Ooeemen mBaifled, CLewIEeT GLTHICMMED BBISHILD CFUISH6T.

i) usHmaprd LBEID STETLST Wed Oamfeureniaer Gamed BBISHHH 60 FHLIL L 6.
iv) Ooeienen HlenBLPS LEWIWTeNTEH6T LOBHBID Gaeiener LOMBSIL  Lsniwmeriser GCeuemnev
BBISSHHSH60 FHLL L 6.

a. (i) w @w & b. (i) wmmiw (ii) w G &
c. (1), (ii) wmpid (iii) ' G &l d. (i), (ii), (iii) wBpd (iv) &
e. alewL O flwaledenev

6. Assertion [A]: Extremism arose along with the Swadeshi Movement in Tamil
Nadu.
Reason [R]: The leaders of the Swadeshi Movement became Leaders of the

People, whose speeches and writings aroused the masses.

a. [A] is true but [R] is false

b. Both [A] and [R] are true; and [R] is the correct explanation of [A]

c. Both [A] and [R] are true; but [R] is not the correct explanation of [A]

d. [A] is false, [R] is true

e. Answer not known

aedupibseo [A]l: &6sd BusssHHILaT HIOPEHHH SalJaTHIpD Heme SHTHHUIG.

amyewid [R]: F8xd BUIED HMEVUTHET LDHFHET HEN6VATHETTS LTI, S6uTaserlest
Gu&asld 61(1PSHSID &Hemen 6IRFFWBE CFUISHSI.

a. [A] &f; syemed [R] seum

b. [A] wmmbd [R] &M; wimnd [R], [A] elBsrer gfwmer elendasid

c. [A] wmmid [R] af; eyenmed [R], [A] alBaren gflwrer alenbsd oi6060

d. [A] seum [A] &

e. alewL OFflwealsdenev
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10.

Match the following Editors to their Magazines:

Editors Magazines
A. Thiru. Kalyanasundharanar 1. Deepam
B. Bharathiyar 2. Desabakthan
C. Bharathidasan 3. Vijaya
D. Na. Parthasarathy 4. Kuyil
A B C D
a. 4 3 1 2
b. 2 3 1 4
C. 2 3 4 1
d. 4 3 2 1

e. Answer not known
SpapeniLauBmieT SpFfwiTeener SleuTaeler HOBEHL T CUT(HSHHS:

ST 8
A. Fm.al.s. 1. Suwb
B. umggwimi 2. Capausdbge
C. umyggraen 3. allgguim
D. mr. uniggsamyg) 4. @Wev
A B C D
a. 4 3 1 2
b. 2 3 1 4
c. 2 3 4 1
d. 4 3 2 1
e. alemL OFflualsoenev

Thirukkural says that it is a weapon that destroys the strength of the King’s army; which
is it?

a. Stringency and Punishment b. Harshly speaking and Tyranny

c. Anger and Tax of the Subject d. None of the above

e. Answer not known

LOGITEITEUGUTG]  LIGHLaUeVeDen] SINSHGHD SIS 61HI00aTsH H(HBSHMB6T FmmpIsmg?

a. BBEHOFTEIGILD FH6wIL N6 LD b. &®eh0FTeOaID OBTHRIGHTEOTL Fub

c. denpd HewBUIGLIT(HEHLD d. GuBaramid eTenaIuLD Sie06V

e. alemL OFfluaisvensv

Which association later became justice party?

a. Madras Dravidian association b. Madras united league

c. Non-Brahmin movement d. South Indian liberal federation
e. Answer not known

abhd el Leiernm baldsl duwims omsluig?

a. Gulgmed HymalL gmisd (Glgred HyTeller DIGFTFGWIF6m)

b. Qi gred @ErBIFmenihd gnl L el (GO FTerd WO 655)

C. LgmoedT SieLeoTHTT @uidbsld (Bresr - Ligmber (peibloemr )

d. OsaibHu STTeTeUTs gl Ll (Fah Seunguiet eluyed G Gyaer)

e. alewL GEMwealsdensv

“___ Kaalam Karuthi Veruppil

Venduba vetpach cholal”

a. Gauge b. Taking c. Maintain
d. Avoid e. Answer not known
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11.

12.

13.

(13

&Me0lD &([H& OleumIiiev

Gouawibu Geul L& GFTeLeL”

a. GUILUSIHS b. SLeiibal c. Qummenyha
d. elenerwupbss e. el GFNwaleemev

Match the following books with its author:

Book Author

A. Parthiban Kanavu 1. Suradha

B. Tamizh Solai 2. Tamizh oli

C. Thenmazhai 3. Kalki

D. Vazhippayanam 4. Thiru. Kalyanasundharanar
A B C D

a. 2 3 4 1

b. 3 4 1 2

C. 4 2 1 3

d. 1 4 2 3

e. Answer not known
BIevSmeT SieuBner FAfNWTHEHLET CLIT(HHHIS.

HIT60 S AT

A. unigguen sene] 1. sy&T

B. swipF Gamensv 2. o0 el

C. Gxpemoemp 3. @60

D. eufiiuwentid 4. &m.al.&
A B C D

a. 2 3 4 1

b. 3 4 1 2

C. 4 2 1 3

d. 1 4 2 3

e. alemL OFfluaisoensv

The Self-Respect Movement represented, the Dravidian reaction to liberate the society,
from which evil practice?

a. Religious customs, practices and conventions

b. Religious customs, practices and caste system

c. Religious conventions and caste system

d. Religious customs, practices and superstitions

e. Answer not known

bd S UPSES aUpSSRISTeHHS, Fpddmd alGallusBeTsd SHImallTser Swofumms
BUBHHMS (LPETaTameOLILIBSHS T ?

DS FLMBIGD6N, FOLITHTLHIGET LOBBID LOFLIS6IT

0 FLEIGSET, FOUTSTWMISET WOBBID ST DInLOLIL|SENT

D& LOJLSHET LOBMID FT8 DIeHLOLIL|SH6N

IbFH FLMIGHH6IT, FIDLNTSHTWMISET LOBBID L HLDLN NS BN

alenL  Ogfuialsoensv

can o

Which of the following statement about Thillaiyadi Valliammai are correct?

(i) She participated in the protest against the policy of Apartheid in South Africa at
the age of 16

(ii)  She worked with Gandhi in his early years

(iii) She died during the anti-apartheid agitation
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14.

15.

16.

a. (i) is correct b. (i), (ii) and (iii) are correct

c. (i) and (ii) are only correct d. (ii) and (iii) are only correct

e. Answer not known

FHleveweowlmy eueieflwibenty UBM FAWTSRT FnBenBd FnBIb.

(i) OzaT iliTedsTalsd Bell UTGUTLIQBE aHme SHaidl 16 auuded LRIGBBHHIT
(i) eMHACWTH SJDLUBTSHHD Gouenev GEFUIBHeIT

(iii) @t UTEUILYBE adIme BLbs CuIIT.LSHHCNCW Bmba GumeTeuT

a. (i) eeug &l b. (i), (ii) wBEIb (iii) &

c. (i) wmpi (ii) w G & d. (ii) b (iii) i Gw &

e. alewL OxMweailedensv

Which of the following was organised to educate by the Madras Mahajana Sabha in 1884?
a. Social Education b. Economic Education c. Political Education

d. Cultural Education e. Answer not known

1884-10 oye0i(h Himleul L QoL Jmerd LoaBTEgent FUT, SHDeHSMILaBBle0 6nd SHBUNILSBSTS
o (HeuTdHSUIULL 7

a. gepd Hoval Ll BousBHTH b. QurmenTaHTys Heval LsL BeubBHTH

C. oflwed seval LS. BeusBEHTd d. seurFamygs @eval LB (HouHBHTH

e. alemL OFfluaisdensv

The following is not a reason for organising the Vaikkom Satyagraha

(i) To restore the rights of the Ezhavas and other untouchables in Kerala.
(i)  In Kerala the Ezhalavas and other untouchables were forbidden worshiping in
temples.

(iii) In Kerala the Ezhalavas and other untouchables were not allowed to enter into the
public streets.

iv)  In Kerala the British Government Banned the Kerala Congress

a. (i) is correct b. (i) and (ii) are correct  c. (i), (ii) and (iii) are correct

d. (i), (ii), (iii) and (iv) are correct e. Answer not known

SPHEHTEID Dened GHID MUSBID FHHWTHTHHIHBE STJTEIILOEV6V.

(i) Cayenmaled S(HHSH FLOTH6T LOBBID BFHT HewiL HHHTCHMT o flenwsmen WL 6L BHS

(i) Gayenmeled o eiten FpeUTH6T LBBID BT SWILSHHTCHTT Camalensd OFedsv
SIS SHBLILL 16D6D6V.

(iii) Gayemmaled o eften FPUTHET LBBID BT SWILSSHTCHTT  GUTH G miseed
SIDIDHSHTHMS SIS

(iv) omEGuwiser Gayenm STRSIMOV HML CFUIHMS HEWIYHDHI

a. (i) w G & b. (i) wspb (ii) & c. (i), (i) wmpw (iii) &

d. (i), (ii), (iii) B (iv) & e. alewL GFHflwaisveneo

Valluvar rightly compared those saints who cannot control the mind and enter into
actions not suitable to their saintliness says the following;:

(1) Puliyin thol porththu Meithatru

(2) Puthar Marainthu Vaettuvan Pul Simil Thatru

a. Comparison (1) alone is correct b. Comparisons (1) and (2) are incorrect

c. Comparison (2) alone is correct d. Comparisons (1) and (2) are correct

e. Answer not known
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17.

18.
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& GeuLlb YewihO®TewI(B, WaIHMmSB DILSGHD 6edemouNeL60TIOE, HUSHMBGL  LBLDLITET
SuFOFWeLHmenEF  QFUID  1HGauL HTiiseller OQFwmev  6UGTEHAIT 6THIMB 2 AIHLOBHENITEL
allen&@GHBIT. DHInMnsle0

(1) yedwlenBsmed GuNTgHg GuuihsBmmI

(2) ysit wepbhe Gl Beust et HAOps sBHI

a. 2 auemw (1) Wi @G & b. o cuemwaei (1) wBEBID (2) Qudw SFemiBL Heup

C. 2 _auemp (2) WL B &l d. 2 euemwaser (1) wBpd (2) W Byewipo &

e. alewL GxMweailedenev

Idea denoted in the following Kural is

Aakaaru Alavittai Thaayinung Ketillai

Pokaaru Akalaak Katai.

a. The Kural denotes how bureaucrats should treat the people.
b. This Kural propounds that out Goal should be big in life

c. This Kural brings out the formation of Friendship

d. This Kural is deeply connected to the economic thoughts

e. Answer not known

SPHHTEID HHBGHMmeT OeualILBGHHID FhoHmermw CaiTe

aFTH Senall L HTulaid Csigevensn

a. Bs@mefled oFHamteer CUTHILESMLLD 61l BLbHGSTeeN CauatiBLD 6168 HETIL Hend
UgHeur&luleiengi

b. B&@meied aumbsmaulsd Bevdd UiHTE BHés GoauamiBd 6B FhHemer 2 _6iTeng.

c. @s@mefed HLLGHTTEnHL LBBw HbsHemer L eurdluleengl.

d. @s@meied QummenmaHTyF dhHmen B HHHBS.

e. alemL OFflualsvensv

Statement [A]: Peelipey Saakaatum Achchirum Appentanjch Chaala mikuththup
peyin.
Reason [R]: The Kural hints at stating that if a king considers his enemies as

small and weak and fight against them. These small and
considered weak will gather their force together to become strong
and powerful and thus defeat him. Valiyarithal chapter carriers this
Kural.

a. Statement [A], Reason [R] are correct, But the reason [R] is not a correct explanation.

b. Statement [R], Reason [R] are correct but Reason [R] is a correct explanation.

c. Statement [A] Kural is incorrect; reason R is correct.

d. Statement [A] Kural is correct; Reason [R] is incorrect.

e. Answer not known

apul [A]: “UelQuul smarBl DIFFBID SIILIRTL 6h
gmev @GS Guuier”

smyenid [R]: Bs@meT  LINIHIEWTHH0 Slewll eIy FamieuT.  euedWIiBHe0  6Tems
DFHBMHHL  DEGMeT DL IDOUBISIBHI.  OGTEINT  LOBBEUTHENEIT
QRUPTRIE) (5] L1608 08 T6TLT6, SIGUTE6IT Gal L LOTSF Gafbal

AUBHSTTHEEMUITEITED H6T eUleNLODW]  ELPLILITEIT.
amml, [A] sryewnd [R] o eyemmed smyewnd [R] aflwmer Gummet eyeiim
amol [A] emyewnd [R] &Ml aapmi [A] -eysb@, @myewnid [R] aflwmer Gummet ey@ib.
amol [A] — @mer seupterg), @éryenid [R] afwimerg
&mol [A] — @eper gflwnerg), smyenid [R] seummeng
alenL Oz fluialsoensv

o an TR
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19. Match

A. Iraththalum edhale polum 1. Avaranna Oppari Yankanda dhil

B. Irappan Irapprai Ellam 2. Irappir Karappar Iravanpin enru

C. Makkale Polvar Kayavar 3. Karaththal Kanavilum Thetradhar Mattu

D. Seerudai Selvar Siruthuli 4. Mari Vara Koornthu Thalaiyar Thulaithu
A B C D

a. 3 4 1 2

b. 3 2 1 4

C. 4 2 1 3

d 4 3 1 2

e. Answer not known

QUT(HSHHIS:

A. @rHseab #5860 Gumeuid 1. ojeugesient eUILMT  WIMHISEIIL &H60

B. &ytiuer @gliumeny  616060TLD 2. @B syiunT @Jeuesidlelr el

C. wésBem GuTsLaUT SWeuT 3. 815360 savaled CHBMWTHTT Lo (H

D. gFmenLd QFevoum FHuigien 4. wrfl aursh FibHHMIIU HiOL S
A B C D

a. 3 4 1 2

b. 3 2 1 4

C. 4 2 1 3

d. 4 3 1 2

e. alemL OFfwalsdemnsv

20. Match the following

A. Thaneer 1. Thoppil Mohammed Meeran

B. Karippu Manigal 2. Asoka Mithran

C. Kal Maram 3. Rajam Krishnan

D. Saiyvu Naarkaali 4. Thilagavathi
A B C D

a. 1 2 3 4

b. 4 3 1 2

c. 2 3 4 1

d. 3 1 2 4

e. Answer not known

QumTmSHIH

A. gextemniT 1. Gaxmiied (psogl LFTes

B. afliy wewllseir 2. 9Bzns 10&HH e

C. @ebLOJID 3. gTgD &(HELGewT6H

D. gmue) mrbasred 4. FHevseud)
A B C D

a 1 2 3 4

b. 4 3 1 2

c. 2 3 4 1

d. 3 1 2 4

e. alewL OFflwealsdeneo
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21.

22.

23.

Who is praised (and celebrated) in the following quotation?

‘Vasana nadai Kaivandha Vallalar’

“Vaidhalum Vazhuvindri Vaivare’

a. Vallala Ramalingam Adigal b. Aarumuga Navalar
c. Paridhimar Kalaignar d. U.V. Swamynadhar
e. Answer not known

‘QUFT HEDL MBEUHSH GU6ITET6VMT

‘meuSHHTAID cupallen eneueur@y’

61601 GUGITENTELTEN] LBIDH&I LIMQuIeuT wimT?

a. 6UeiTeey @IMOeImIBLD DIGSH6IT b. eumips BIa6VT

C. uNHTH SHeMeVEHT d. o Beou. gmiprsT

e. alewL OFflwealsdensv

Match the following.

A. Sarukkam 1. Seevaga Sinthaamani

B. lambagam 2. Bharatham

C. Padalam 3. Silapadhikaram

D. Kaandam 4. Kambaramayanam
A B C D

a. 2 1 4 3

b. 1 2 3 4

C. 4 3 2 1

d. 3 2 4 1

e. Answer not known

QumTmSHIH

A. Fmosid 1. Fous Fpsmoewni

B. ®svibuisid 2. UMy

C. uLeobd 3. Fevliugsmyd

D. smewi_ib 4. SIDLIJTLOWIGRTLD
A B C D

a. 2 1 4 3

b. 1 2 3 4

C. 4 3 2 1

d. 3 2 4 1

e. alewL OFMwealedensv

Choose the correct answer

1. The author of ‘Chivaga Chinthamani’ Thiruthakka Thevar belonged to the Chozha
dynasty and he chose to become a saint.

2. Chivaga Chinthamani is the first Tamizh epic written in the form of ‘Virutham’

3. Thiruthakka Thevan is also the author of book, “Nari Virutham”.

4. Chivaga Chinthamani consists of 12 ‘Kalambagam’ 2000 poem:s.

a.1,2 and 3 are right, 4 is wrong b.1, 2 and 4 are right, 2 is wrong

c.1and 2 areright, 3 and 4 are wrong  d. 1 and 3 are right, 2 and 4 are wrong

e. Answer not known

gilwmer alewLenwdh CHiTsm.

1. Fasdbamoeami QuBpiu $HpsHse58HaT Gamp s wrdemmul SmbaH  HBEUBLD
L}, 6U0TL_ 6T

2. FauadbamoamiGu alhHHHH0 DMWHS (PHeO SODL CLHRISTULIWLILDTEGLD

3. HHHHEHHCHT BRAIHEHIID 6THINID HEMEOWITENID [HIT6D QPSTEMBUILD EUIBNSIETHETEITT.

4. FousdfbaToent Leelgeni® SHe0DLSHRISMETUID @T6RILTUIFD LT 605m6NMULD © DL UIFI.
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24.

25.

26.

27.

28.

APPE> L0
STUDY CENTRE
CHENNAI

a. 1, 2, 3 afl 4 sy b. 1, 3, 4 af 2 sam c. 1, 2 M 3, 4 mam
d. 1, 3 &M 2, 4 syl e. alewL OHfNwaledenew

“Koorvael Kuvaieeya moiymbin

Thaervan paarithann paramby naadae”

in which poem do these lines appear?

a. Pathitrupathu b. Patinapaalai c. Puranaanooru
d. Aganaanooru e. Answer not known

“FniTBeusd GHeWau@Ul GILOTUIDLN6oT

Gxpiteuemr Lmfigemwt LpoL BTG

-6TEIB LIML6D Sjig S bOILDID HITed 618i?

a. uFHBBILUSS b. vl gerniuTensy C. LBBTanmy

d. sspTars e. aleowL OFHNwealsvensy

The literature that reveals Kanchi had become a centre of Buddhist learning is

a. Manimegalai b. Purananuru c. Silappadikaram
d. Ahananuru e. Answer not known

USSSHSHI6 He0allenowions STehd S hbHme STL(BLD Eevdauib?

a. wenlGLosmev b. uBBTETHI c. Feoluglamyib
d. ssBIHIH e. alewL OHfwealedenew

Which flower triggers the debate of accepting “Nedunelvaadai” as that of belonging to
“Agam” or “Puram”?

a. Palmyra Flower b. Neem Flower c. Fig Flower

d. Ixora/Vetchi e. Answer not known

OBBBLUTML  ‘OIHT? LUBLT? 616 aleuTHHHMBESHS STFERILOTET LO60T 61517
a. uesibyy, b. Geuibi C. 95

d. Geu & e. alewl Qxflwaledensv

Which is the sub-plot that is not narrated in Silapathigaram?

a. Porkai Pandian Kathai b. Aadhirai Varalaru

c. Nalangadi Poodha kadhai d. Urvasi Saba Varalaru

e. Answer not known

FeouFsMyeHHle0 CFTeLLILLTSEH HenendHdamad 617

a. QumBensll LITEIQUIET HenS b. eyHevy euyeomm C. BTONRIGMG LLHsH HeNDH
d. eeaiteudl Fmu euyeoTm e. alewL OFflwaledensv

In the Thamizh literary world, what is know as ‘Pariksha’?
a. N. Muthusami’s Koothu-p-pattarai

b. Gnani’s drama troupe

c. Amshan kumari’s ‘Cinema Rasanai Kuzhu’

d. CS. Chellappa’s “Ezhuthu Ilakkiya Kuzhu’

e. Answer not known

SOD DevbHWF Gpedled LIFHART 6l

a. b (PSHHFTOWME0 OHTLMSILILL BILSS GH(D

b. eprefwimed OFHTLBISIULL BT &S G(1P

C. OIDage GHLOMITEL OHTLRISLILLL Flellom JoFemenndh G (LD

d. dl.g. Ggevevliumeumed ‘QHTLRSLILLL 6I(PBHIH Devdbdwd G1p’
e. alewL OFflwealsdenev

49 | P age APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




29. Who was the archeologist, who first excavated the Pandya’s Pear]l market?

a. Nagasamy b. Caldwell c. K.V. Raman

d. S. Paranavitana e. Answer not known

abHdH  OFmeoCuThHeT  SugmuiFwmenT  (1pGHedled  UTERIQUITHeMNET  (PHHF  FhHenHemuls
SHeIBLIYSHSHTT?

a. BI&saL b. &me0B0OaI6D c. Gam.al. ympest

d. eed. uyewralEmen e. alewL OFfwalsdensv

30. Reason and Assertion type:

Assertion(A): - Tamil rulers patronized Tamil and Tamil poets in their courts.
Reason (R): - The words mandram, Avai, Ambalam and Mandru were used for
Kings Courts.

a. (A) is true but (R) is false

b. Both (A) and (R) are true and (R) is the correct explanation of (A)

c. (A) is false, (R) is true

d. Both (A) and (R) are true but (R) is not the correct explanation of (A)

e. Answer not known
UIWLBISHSHE0 LOBEILD HTJEID GUMS:

aulupiISse0 (A): - slps oy wreniser SOD OBBID SO  LEOTHMET  SeUTH6I
SImeUUTD LSBT U6 ST
smyenid (R): - LDGIBID, SleMel, SDLEVD BEID e CuTEs  CFTBHET ST

Siemeuued LWSTLBGSHSLILL L Gl

a. (A)eeiugl 2 _ewien emed (R) eteiugl seum

b. (A) wpmpiw (R) Beneu Syewio 2 ewienw wBBID (R) ez (A) uler sfluwmer ellendasib.
c. (A)eaiug seauml (R) ereiug o ewrenio

d. (A) wBpd (R) Beweu Byewibo o ewiewwwiteng pemmed  (R) etesiugr (A) uller  gfwimen
alleNbHID  $I6D6V.

e. alewL OFfweailebenev
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UNIT - IX : DEVELOPMENT ADMINISTRATION IN TAMILNADU

(i) Tamil Nadu Slum Clearance Board set up to improve the lives of the poor.

(ii) It is now known as Tamil Nadu Urban Habitat Development Board.

(iii) It provides housing for all in Urban areas.

Which of the above statement is/are true with regard to Tamil Nadu Slum Clearance

Board?

a. (i) only b. (ii) only c. (i) and (ii) only

d. (ii) and (iii) only e. Answer not known

(i) ogemwseflear eambpsmamw  Gobubss SOWBTE GYdFlugd  LMBE  eumfluib
SIMIDSHBLILL L F).

(i) @5 5BCuUTEH SOWDETE BHTLB eumpel GubuT’ G aumflwb 6aTp SimPSSILIGSBSI.
(iii) paTyBRsaied SimeaubmsElD 6B PBIGSBSI.

SODHTH Gmaliugd By eumfwb esTLTuTes CuBanplu Dfldamasseilsd 6% 2 emento?
a. (i) w @ b. (ii) wl Bw c. (i) wmmi (ii) wr Gib

d. (ii) wBpib (iii) w GEw e. alewL QFfwaisoensv

2. Which of the following is incorrectly paired?

I. TNSWAN - Tamil Nadu State Wide Area Network

II. TNDRC - Tamil Nadu Disaster Reconstruction Centre

III. TNeGA - Tamil Nadu e-Governance Agency

IV.TNSDC - Tamil Nadu State Disaster Centre

a.land II b. II and III c.lTand IV
d. [T and IV e. Answer not known

LeTeu(mHeuatouBpled 61& HeUBTH EenenrdbdLLIL (HeiTeng?

I. TNSWAN - SODBTH LOTHeL QLIHOLITLIL]  616meOWIGNLOLIL]

II. TNDRC - SIpHTH GuilLiT wmIFFeniolil] oW

III. TNeGA - SOPHTH  1O60T-SLETHEMLD  (LPSHEWLD

IV.TNSDC - SOPHTEG  wTHev GufLT emouid

a. I wmpnd 11 b. II @b 1T c. IT wppiw IV
d. 1T wimb IV e. alenL  Gafuweailsvensy

3. Choose the right matches.

1. TANCEM - 1976

2. SIPCOT - 1965

3. TANSI - 1970

4. TIIC - 1949

a. 1 and 2 are correct b. 1 and 4 are correct c. 2 and 3 are correct
d. 3 and 4 are correct e. Answer not known

SHewiLeuppieT Flwmsll QuUTBHSSILL Betenensd BHMHOHHHS.

1. TANCEM - 1976

2. SIPCOT - 1965

3. TANSI - 1970

4. TIIC - 1949

a. 1 wipnd 2 & b. 1 By 4 & c. 2 pmib 3 &
d. 3 wBmib 4 & e. alewL  Oafwalsbensv
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4. How many features of the immunization programme issued by the Central Government
of India on 19t March 2020 are being actively followed by the Government of Tamil
Nadu?

a.6 b.9 c.10 d.12 e. Answer not known

@baHwmaled HHW SPFTESSSHTEL 19 TTEF 2020 OB Oeuefull L, adhsHemer CHTUIS HHLILY
aufl(werpasmens H0ps s Halgwrsll s eumang?

a. 6 b.9 c. 10 d. 12 e. alewL  Ogfwalsbensv

5. A welfare state can be characterized in terms of the following functions:

1. It guarantees individuals and families a minimum income irrespective of the market
value of their work or property.

2. Itnarrows the extent of insecurity by enabling individuals and families to meet certain
social contingencies.

3. It ensures that all citizens without distinctions of status or class are offered the best
available social services.

Which of the above statements is/are correct?

a.land II b.Iand III c. I, IT and III

d. None of the above e. Answer not known

0&H6NT [Hevel all(HUD gl Lereumd GawesoumGaeien ool ulled euendLILIHHIHE0TLD:

1. FHAPUTHEPESLD  GBLURSEHSSWD, SeuTsefer  Gouenevenwd OCFTHHer  FhHend
wHUULD  QUIBLUGSSTOE, GOBHSLULF  UBLINSHBEG DTF 2 SHSHIUTHLD
QULDMHIGH BIBGI.

2. SONBUTHEHSGD GBHLURISEHSGD Fev Fepd BLTUTBSMmeNF FhHHHS 2 HaeUH6 (LPeOLD
SII& UTHISTULNTenLoUN6T  DieTenelsd (&mBoHBIBES!.

3. Fpd DBV, FTHWL LTGUThHSaTa Dwarhdl GYLEHSEHSGHD FBHS FUPHSF
Gremeumemen aUPHIGMS DJF 2 mIg CFUISBSH.

GCuoBaewiL amBuIBeiled 61/ slever Ffluimerg?
a. I wpmio 11 b. I wommo 11 c. I, 11 wmpnd IT1
d. GuBsemiLeuBpien eemeuu|fsvemev €. alewL G flwalsdanso

6. Which one of the statement is not true of “Beti Bachao Beti Padhao”. The objectives of the
schemes are?
(i) Prevention of gender biased, sex selective elimination.
(ii)  Ensuring survival of the girl child.
(iii) Ensuring education and participation of the girl child.
iv)  To provide only self - employment to women.
a. (i) and (ii) only b. (i), (ii), (iii) only c. (i), (iii), (iv) only
d. (iv) only e. Answer not known
SpFHewIL. “Ouewt GHWhHm L LUTgHISTIL wBnid seoal” (Cuily uFsmCeur Guiy usTGeur) ereis
SBBled 615 2 _eWIMLDUIE: S L SHFler GhTeonmisenTaenel &pabLOTHI
(i) e@m &ty urelend wBBID uTederd Osfley Suflimus HBHBH60.
(i) Quewr GWhmsules eaumpener 2 MIF OCFUILHE
(iii) Quewr Gwhmsseiar seval WLBBID LRSaIlmL 2 BIF CFUIHe0
(iv) QuemiaEndE FWOSHTH6L 6uUPHIS Dieueml CFUIHe0

a. (i) wmpnd (ii) wr G b. (i), (ii), (iii) wr Gw c. (ii), (iii), (iv) @G
d. (iv) w (B e. allenL  Gafweaisvensv
7. scheme for prevention of trafficking and Rescue, Rehabilitation and Reintegration
of victims of trafficking and commercial sexual exploitation.
a. Vatsalya b. One stop centre c. Ujjawala
d. Kishori Shakti Yojana e. Answer not known
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SHMBHHMEMUD CLETHIHMETUD HLHHIAUNHH HbHHH60, HLSHFHLILLL auTHemen L 6L (HdHH60,
SLSHSUULBLU umelwed GHTfled FUBSSILLL QLTS EHHGL LeTeuTde] CaThdhaHe0, WemiBLD
FpSHTWHEHTH  UTIDOUSBHTR GO 2 _(HaUTHGH0 SpBWeuBenBsF CFWLLGSHHIMHBHTH
® (HeuTdHSUIUL L HI LD

a. Vatsalya b. One stop centre c. Ujjawala

d. Kishori Shakti Yojana e. allewL  Gfwaisoemnso

8. Action may be taken against those involved in spreading misinformation under any of
the following laws.
a. 1938 - Rule 41, 43, 44 b. 1938 - Rule 45, 46, 48
c. 1939 - Rule 41, 43, 44 d. 1939 - Rule 45, 46, 48
e. Answer not known
SHEHTEID  6hHF FLLSHHIGS SHeoupmel HdHaled LJFIUD OFwevselled FGUBUT g
BLAQSHMS 61(HHS (PIQuib?
a. 1938 - @i alg 41, 43, 44 b. 1938 - ®ei1 alg 45, 46, 48
c. 1939 - Qe alg 41, 43, 44 d. 1939 - @1 alg 45, 46, 48
e. allewL  Ggfwalsvenso

9. Match correctly the Socio Economic indicators of Tamil Nadu and their corresponding
contribution as per 2011 census:

Economic Indicators Tamil Nadu (2011 Census)
A. Decaded Growth rate 1. 48.40
B. Sex ratio

(Female per 1000 males) 2. 946
C. Child 0-6 years

(Female per 1000 males) 3. 996
D. Urban Population Percentage 4.15.61

A B C D

a. 3 2 1 4
b. 4 1 3 2
c. 4 3 2 1
d. 4 2 3 1

e. Answer not known
2011 wEs6eT OFHTmd HeTHOBGELLNN  SHOPHTL 9T  Fepsll  GUIHMTHTTS  GnBIUIL L U|Lb
SlupBler Umisaflenuub Fllwmsll CGUTHHSHaLD.

CurmeTaHTy GBIUIB SOIPHETH (2011 sasb6sBLIL)
A. ugsnenh euenTsd aladHb 1. 48.40
B. uredenr aldsib

(LuITD SLETHEHHE THHMN CILIGTTHENT) 2. 946
C. aubms (0-6) umIBSH6

(LuITD SLETHEHHE THHM CILIGTTSHENT) 3. 996
D. pasiiys wéset OFmems FHaisb 4. 15.61

A B C D

a 3 2 1 4
b. 4 1 3 2
c. 4 3 2 1
d 4 2 3 1
e. alenL Gaflweailedenso
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10.

11.

12.

Which of the following is true about the Abolition of Bonded Labour System?
(i) Persons kept as bonded labour are released and rehabilitated by providing financial
assistance of Rs. 20,000.

(ii) House site pattas, drinking water and Bank loan assistance are provided to them.

a. (i) only b. (ii) only c. (i) and (ii) true

d. (i) and (ii) false e. Answer not known

ereumeuaiauBpled CGamHIgem  QUINILLPOBEH H L SHH60 61606 2 _RIGHLOLITETMNE  DIGU6VSH]
61% o _6mIenipuITeg]?

(i) QETHIHYMDHENMTS meubdLILL L  BUTH6T elBeldaiul’ (b wrelwwrs . 20,000/- B8
o Hal 6Upms WEBIeTDe| SieidbslILBHBTTS6N

(i) BeuTaEnd@& ol (B e LILLT, GYbT UFdH BBID URSSEHL 60T 2 56| aUPHISLILIGSHMBSH.
a. (i) wi G &l b. (ii) w@w & c. (i) wppnb (ii) &M

d. (i) wBpiw (i) seum e. alewL Oxflwaisoeney

(i) In April 2008, Tamil Nadu Transgender Welfare Board was formed as the nodal body
to address the social protection needs of Transgender.

(ii) The Board addresses the Social Protection needs of Transgender people such as
income assistance, housing, education, employment and health care.

(iii) It is a platform to bring various section of the society and private sectors together to
discuss what can be done to address the basic needs of transgender community

Which of the above statements is/are true with regard to Transgender Welfare Board?
a. (i) only b. (i), (ii) only c. (i), (iii) only

d. (ii), (iii) only e. Answer not known

(1) @guged 2008 @ev SHUODBTH  HHBERIDSHT [H6O  UTHWID  H(HBHRIDDSHEHSHSHT6
FPpSLILTHISTLLS CHemeusemen Hlenme| CFUIISBETERT (LPHSIU SIHWLLTES 2 (HeUTHSILL L .
(i) eumeuruwl 2 Hail, ol B eaugd, Heval, Gauemeveuruili] WBBID &FSTHTI UTHISTOL GuTes
Cxpemeusenen FHpphimdseile Fepsll LUTHSTINBEG aumflun Henpe CFUISBSH.

(i) SHmprmasseaier SiglimL g GCHemeusamen Henme] GFUILI  sleiier  OFUILIGOTD  6T6IHI
alangéds FpasdhHar LeLGup Lflaleaemyub, sSeflwmT gempuiaemyub Qeanslenemb@d b

SHeND Bl

HHBEIDSH6T Hev eumflwid OFHTLTUTS CoBaemiL gmBpIseisd 6% 2 ewenin?
a. (i) ' @ b. @), (ii) w G c. (), (iil) wr @G
d. @i, @dii) w’ @ e. alewL Gafuwealsvemnso

Match correctly the States with their achievement of sustainable development goal.

A. Tamil Nadu 1. Gender equality

B. Chattisgarh 2. Zero hunger

C. Kerala 3. No poverty

D. Odisha 4. Climate Action
A B C D

a. 3 1 2 4

b. 1 2 3 4

C. 4 3 2 1

d 2 4 1 3

e. Answer not known
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LOTHlELRISENET DIUBNIET BlgHdH auenTFHS GBHCoHTeTHel FTHMeTenUISH CBTEIH CLITHHHIS.

A. s100mT6 1. uTelledT FLDSHSHIAILD
B. #5860t 2. ymedw udl/uligefufedeor [Henev
C. Gayemm 3. eumIenLDUT GTEmLD
D. quar 4. LHEUBMED L GUIGHMB
A B C D
a. 3 1 2 4
b. 1 2 3 4
C. 4 3 2 1
d. 2 4 1 3
e. allewL G flwalsvenso
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GENERAL KNOWLEDGE
1. Match the following and choose the correct option:

A. Environment Protection 1. India REACH
B. Insurance for Employees 2. FSSAI
C. Chemical Management and Safety =~ 3. Umbrella Act
D. Food Safety 4. ESIC

A B C D
a. 4 3 1 2
b. 3 4 1 2
C. 2 4 1 3
d. 2 3 4 1

e. Answer not known
SpdbaremiLaBems oummaeHd wBpid Fflwmer almLamuw BxiTho%H B &S LD:

A. FBBIGHL0 UTSHISTIL 1. @bt REACH
B. Gamflevreniasemabater TG 2. FSSAI
C. BaugdliQummeT Gevmemienitd OMBEID UTHIBTIL 3. GOl FLLID
D. 2 ewieyi umgisiiy 4. ESIC

A B C D
a. 4 3 1 2
b. 3 4 1 2
C. 2 4 1 3
d. 2 3 4 1
e. alewL OFfualsoamev

OTHERS
2. Assertion [A]: Social movements have varied in scope.

Reason [R]: Many movements are limited to Local Policies while others have

been international in their focus.
a. [A] is true, [R] is false
b. Both [A] and [R] are true and [R] is the correct explanation of [A]
c. [A] is false, [R] is true
d. Both [A] and [R] are true but [R] is not the correct explanation of [A].
e. Answer not known
ammm [Al: Fopd  BUIBHBISH6T ITUINIOILEVMmeVEH6T6 GoumILL 19 H eimset.
amyewid [R]: Lo BuIbdnhiseT o 6ienT O@meiens DenalBaBu S mbEH aIHE BT
9I8xhaWILD, BBener FTauBhHF Sienaled Heuaid OFevIHHIFH 6TB6.
[A] &f, syemed [R] seumi
. [A] wBgid [R] 8yewiGid Ff, Guweunbd [R] eiaiugl [A] elBsrer gfwimer alendbasomn@lb.
[A] eum1, syevmmed [R] ol
. [A] wBpibd [R] @yemio gfl, epenmed [R] aratiugl [A] eiB@ aflwner aiendsioeoen.
e. alenL Gaflwealedenso

an op

3. Who is the author of the book “Social movements in India”?

a. T.K. Oman b. M.S.A. Rao ¢. ML.N. Srinivas
d. Ram Ahuja e. Answer not known

“@hHwumaled Fepsd USRS 6B HIeder Spdfluim wmiT?

a. T.K. guer b. M.S.A. grei c. M.N. ufBleurerd
d. gmb s&Hmr e. alowL GaMuwielsdemev
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4.  Which of the following are/is true with reference to the impact of social movement?
(i) Social movements attempts to negotiate with State, Market and Civil Society.
(i)  The outcome of the movement could be seen interms of social, political and
economic change but not structural.
(iii) The State has the power to formulate new policies or modify existing public policy
as per the demands of the social movements.

a. (i) only b. (i) and (ii) only c. (i) and (iii) only

d. (ii) and (iii) only e. Answer not known

BB Felpd BUISDSH SHTHbHHe0mer OGeuefiLmbBselled erg Fflwimereneu?

(i) Fopd  BQUISSMIBET SIIFH, TFhHhedd BWID OuTg  SHHEHLET  FOJFD  GFuIw
(PWIBE &85 6vT 60T,

(ii) BuwssHH  aleneneadamen &L LWL FHWTS UTTHSTON Fepd, SDIFFUled oBBID
QUITHENTHTT  LOTBBHIGEMEIT LPEVLOTEHES  SHTEHIGUTLD.

(iil) Fps Bussnseien CamibmaseEndsCaBL LW COsTeaTmesmen 2 (HhaurssGaur $i6060
b CuTgIs OsTeTensamwl LTBBCMT SDIJ&siHE DHSMD 2 _6iTengl.

a. (i) w @ b. (i) @i (ii) ' Gib c. (1) wpmid (iii) o BLd

d. (ii) wBpb (iii) wL G e. aflewL  Ozfwalsdenev

5. Preliminary stage in the formation of social movement is related to

a. Crucial Stage b. Unrest Stage c. Final Stage
d. On Going Stage e. Answer not known

Fpd BUSS 2 (HeUTHSHH QJIbUS SLULLD GBI W

a. (pEHAWIDTET BHlenev b. amwduisimn Havew  c. BuiF Beweo

d. pLBHIG CaTamgmes@G Hamew €. ala QFflwalsdensw
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UNIT - X — MENTAL ABILITY

1. The least Prime Number is

a.0 b.1 c.2 d. 3 e. Answer not known
WBFABI LIST  6T6001 SLGLD
a.0 b.1 c.2 d.3 e. alewL  Ogfwalsbensv

2. The next number in the following sequences:

0,6,24,60,120,210?

a. 240 b. 290 c. 336 d. 504 e. Answer not known
Weteupd OpmLiteuflenguiesr SibsHs 66wt

0,6,24,60,120,210?

a. 240 b. 290 c. 336 d. 504 e. aleowL  Oafwalsbensv

3. Find out the missing figure
alBULL euemIUL SH0& SHewi(BLIlg

AD:Q?

a. b. c. d. e. Answer not known
] e R [0

4. Various positions of a dice are given below. What will be the digit on the face opposite

to the face having digit 1?
@ useLuler Geaum'L mHewevser HCP GaEThEHSLILIL (heiTener. 6lewl | 663 LSSHHBS
P TUSSSIHBE 6THMLSHLD 61hg 6Tewl 6uJ SnBLb?

2 6 1

4 4 2
3 2 3

I 1T 111
a.6 b.5 c.4 d.3 e. Answer not known

5. The next term of the Alpha numeric series
275,7Y7,14X9, 23W11, 34 V13, is

a. 27024 b. 45U15 c. 47U15 d.47V14 e. Answer not known
275,7Y7,14X9, 23W11, 34 V13 areti3  e1ewiQent(psal QHTLled DibdHs 2 mIliL
a. 27024 b. 45U15 c. 47U15 d.47V14 e. alenL  GaMuwealevemev

6. Find the sum of
1+3+5+.... to 40 terms

a. 800 b. 4000 ¢. 1600 d. 8000 e. Answer not known
1+3+5+.... 40 o_mi'iys6l eueny
a. 800 b. 4000 c. 1600 d. 8000 e. alenL  GaMuwealevemev

7. A manhas 532 flower pots. He wants to arrange them in rows such that each row contains
21 flower pots. Find the number of completed rows and how many flower pots are left
over?

a.21,7 b. 25,7 c.26,5 d.19,2 e. Answer not known
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10.

11.

12.

13.
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@ pUfL 532 yhosT gser o eener. ST aflengdd 21 ybOsT pser aisbd DibHs
allpiem. ehHewen euflengsel (WM GUDILD  6TeTeyld BB  61HHMT  LHOSHTL 19H6iT
BHLO(HBGSLD 61D SHTEUTH.

a.21,7 b. 25,7 c. 26,5 d. 19,2 e. alewL OHfNwaledenew

‘A’ can do a certain job in 12 days. ‘B’ is 60 % more efficient than ‘A’. How many days
does ‘B’ alone take to do the same job?

a. 8 days b. 8 %2 days c. 7 days

d. 7 %2 days e. Answer not known

‘A" @ Gouewevenws 12 BT &efled (pglumt. ‘B’ eteiueut A &y el 60%  Smewiowimete,
aaied 9I8% Geauemevenuwl ‘B’ erdhmemedt BT &6fled (LpIQUILITT.

a. 8 [BIL&ei b. 8 V2 B e C.7 BIL &6l

d. 7 V2 pn_seir e. alenL  Gafweaisvensy

If 48 men working 7 hours a day can do a work in 24 days, then in how many days, if 28
men working 8 hours a day can complete the same work?

a. 38 days b. 36 days c. 35 days

d. 34 days e. Answer not known

43 oemidel @ Geuemevenwt HTOeNTaIBISEEG 7 wWwenll GHIb GCeuemev OFUIH 24 BT H6rf6e0
WU elefled 28 Seuidel I8%H Geuemevenws BTOeMTEIBISEG 8 Wewil GHIL Geuemev GFUISHT6D
SIeIGauemevenl 1SHHemedt BT &6ie0 (LPIQLILIT?

a. 38 (BTl el b.36 BT &6l C. 35 BT &6l

d. 34 ®Br e e. alowL  Ogfwalsbensv

If the radii of two spheres are in ratio 1:2, then ratio of their surface areas will be

a. 1:2 b. 1:4 c. 1:8 d. 1:16 e. Answer not known
@renip Camenmisenel Sumiseie aldsn 12 sealed Seumplen yUBLLTLILEeTer aldsib.
a.1:2 B. 1:4 c.1:8 d. 1:16 e. alenL  Gafuwalsvemev

A cubical tank can hold 64,000 litres of water. Find the length of the side in metres.

a. 40 m b. 80 m c.8m d.4m e. Answer not known

QH SO FHT aUged BHTHOBHT pwimengd 64,000 60 BT C&TeTEhD 6eled, SbHH OB 1guiles
USSSHIH HenhHma LB L Med meu.

a. 40 8 b. 80 15 c.818 d. 418 e. alewL Ogfwalsbensv

The amount is to be repaid on a loan of Rs. 12,000 for 12 years at 10% per annum
compounded half yearly is

a. Rs. 13,891.50 b. Rs. 12,888.50 c. Rs. 13,210.50

d. Rs. 12,955.50 e. Answer not known

owIBs&E 10% gl Galy ainsHed PEWDT UMBHEHEG @B (WD HeuebSLLILBD  6Tafled
sLamsLOUBB oh. 12,0005 HHbU QFISHSUILGLD OHTenD

a. ap. 13,891.50 b. ep. 12,888.50 Cc. ep. 13,210.50

d. ep. 12,955.50 e. alewL OxfNwaledenew

Find the compound interest that Rahul would receive if he invests Rs. 8,000 for 18 months
at 10% p.a, the interest being compounded half-yearly.

a. Rs. 1,061 b. Rs. 1,160 c. Rs. 1,260

d. Rs. 1,261 e. Answer not known
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14.

15.

16.

17.

18.
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SIOIWITERIYBEG @ (PedB Il lg Fnl B (empuiled Jm@He0 ¢h. 8,000-GH& 18 OTHHIHEHDHG),
10% oewih aully aipd CaTBUURHD (PHeSB CFUISTT. DUbHEGHDH HMLSGWD gl B ellg
616116161T6Y 7

a. Rs. 1,061 b. Rs. 1,160 c. Rs. 1,260

d. Rs. 1,261 e. alewL OHfNwaleenew

If a principal becomes Rs. 17,000, with simple interest at the rate of 12% per annum, in 3
years, then the principal is

a. Rs. 11,000 b. Rs. 11,500 c. Rs. 12,000

d. Rs. 12,500 e. Answer not known

R oFvTeg, 12% sl ey aissded 3 ouemihaeied ap. 17,000 ouE WTBIS MBS 6660,
SIFMEOH  HTEWIS.

a. Rs. 11,000 b. Rs. 11,500 c. Rs. 12,000

d. Rs. 12,500 e. alewL OxNwealeoenev

Which rate of interest, yields an interest of Rs. 200 for the principal amount of Rs. 2,000,
in one year?

a. 10% b. 20% c.5% d.15% e. Answer not known
b ey aisb, SIFeL h.2,000-5@, @ITNIhHEG H.200-83 Helleul QUITSHE SH(HLD?
a. 10% b. 20% c.5% d. 15% e. alewL QafNwealsdensv

In how much time will the simple interest on Rs. 3,000 at the rate of 8% per annum be the
same as simple interest on Rs. 4,000 at 12% per annum for 4 years?

a. 6 years b. 7 years c. 8 years

d. 9 years e. Answer not known

OIF60  5.4,000-6G, 4 — opeibseaie 12% ey afHHHed SHmLbGD HNal lgujd, DIFeD
.3,0005&, 8% ey aipsHed ML HGD Hall U Quid FOOTE BHEBGID 61aN60, OIH6T
SLENT([BHEBEIT  GllGUGTOUTS  B)(haEHLD?

a. 6 SLEIBB6 b. 7 syemiGasel C. 8 SWIBH6N

d. 9 syewihser e. alew QFflwaledenev

The ratio which of the following is not an equivalent ratio of %

a. — = 2 d.2 e. Answer not known

15 18 6 28 9
&6 o sien 6h alHHLD >2 160D AlBHHHBG STl alSlHD DLTHITH EHIBEHLD?
c 2 b. 2 a d.2 e. alew OFHfwaledenev

15 18 28 9

Kumaran has Rs. 600 and wants to divide it between Vimala and Yazhini in the ratio 2:3.
Who will get more and how much?

a. Vimala gets Rs. 240 more than Yazhini b. Yazhini get Rs. 240 more than Vimala
c. Vimala get Rs. 120 more than Yazhini

d. Yazhini gets Rs. 120 more than Vimala

a. Answer not known

GLrefLLd eh. 600 o 6iTengl, SiHewen aioeom BE@ID WTHeldE GenLuiled 2:3 eams alldsHdhade0
uSlbGHeMBHBTT eTefled E(Heufled WM(HSEG UMD DIFHBTHDS HeLHGWD? 66666, ?

a. elweoralBg wrfeiemw el p. 240 SIFHED HLHGLD

b. wmfeisd elivevrener el ep. 240 SF @D HedLHGLD

C. alweuralBg wmfelenw afL dp. 120 DIHBD HeLSHEGLD

d. wnfels@ alwemmear el . 120 HBD Senl @D

e. alewL Oxfwealedeneo
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19. The ratio of the volumes of two cones is 2 : 3. If the height of second cone is double the
height of the first cone then the ratio of their radii is

a.2:3 b.2:\/§ c.\/§:2

d.5:3 e. Answer not known

Bm amblear a1 Sleneyseflear aldlsd 2 : 3 eefled Bewimaug Ll 2 WD (LPHeoTeUS
aiblier © wyshensLiBumen @ WLMIG 6aled, DeuBmler Smiseier aldlsb SLGLD.
a.2:3 b.2:3 c.\3:2

d.5:3 e. alenL QxfNwelsvenev

20. Malarvizhi, Karthiga and Anjali are friends and natives of the same village. They work
at different places. Malarvizhi comes to her home once in 5 days. Similarly, Karthiga and
Anjali come to their homes once in 6 days and 10 days respectively; Assuming that they
met each other on the 15t October, when will all the three meet again?

a. 31¢t of October b. 30th of October c. 10th of October

d. 1st of November e. Answer not known

weoTallpl, &SMTHIHST WBBID Diehded wHW cpaumd @8y HymwsHmad GCasibs Cohmpser.
BalTser OeuaiCoum B mselled Geuemev GFUISBEIT WevTalfl 5 BT SEHEHES QUH(LMBUILD,
STMTHHST  BOID Siehgded (WwewpGw 6 wBBID 10 BILSEHSHGH Q@H (POBUID, DIEUTHLD
aiBBEDHS oUbH OFOaUT. DIUTHET peuBD, SISCLIUT TSHD (LPHEL [HT6T  QEIBTHE
FHIHHSMTHET 61660, Wewi(BLD SieuTH6T 6TICLTSH QAIMBTEF FhHAHIILIMTS6NT?

a. oB6LmuT 31 Bxa) b. &5@LmuT 300 Cxd) C. 91BCLmuT 10 CxHg)

d. peubui 10 Cxpd e. alowL Ogflwaisoeney

21. There are four Mobile Phones in a house. At 5 a.m. all the four Mobile Phones will ring
together. Thereafter, the first one rings every 15 minutes, the second one rings every 20
minutes, the third one rings every 25 minutes and the fourth one rings every 30 minutes.
At what time, will all the four Mobile Phones ring together again?

a.7.00 am. b. 8.00 a.m. c.10.00 a.m.

d. 11.00 a.m. e. Answer not known

Qb aillged HTETE DMevCUFH6T o aiTenerr. HTenev 5.00 LOWNEG, 616060T DIeN6VELIFHEMHLD
QABTH elbGD. DS (PHe0 DlemevBuAwmengl @albeur(h 15 B misefeud EFewrLTeugi
SlmeuBudlwmengdl @alOeut(h 20 HIOLMSeTNeD cpaBTag SlemevBudlwmeargdl @albeurm 20
PO mIsalad ceapraug SieneoGudlwmeidl @albeurm 25 BIOL mseileld WBBID [HTETHTeUS
SlmeuBudlwmengl @aleuth 30 B miselled elldbdlemenn elaled, Siemeu LewIHLD 61IGLITG
PAMTH PeIlHGLD?

a.7.00 p.u. b. 8.00 (.. c. 10.00 p.L.

d. 11.00 @p.u. e. alewL OFfwalsdensv

22. A book seller has 220 Maths Books, 380 Tamil Books, 420 English Books. He wants to sell
the books in a box, subject-wise in equal numbers. What will be the greatest number of

boxes required?

a. 10 b. 20 c. 30 d. 40 e. Answer not known

@T [HITeL alBueneTwmenT 220 SHewild HIeLSemeNU|D, 380 SO HICLSemeNU|D, 420 ShIFI60
BIT6VSHMETUID  MEUSSHIGTENTT. @albeum(h GuLiguied umL euflewgwnesd o  erewienibensuied
CPSSIMI LML [BIT6USHMENUD  audbHd alls  al(pioydSmrT. 6eled, DIHBULFIONS  615HHN6ILI
QUL gHei GzpemeulILiBLD?

a. 10 b. 20 c. 30 d. 40 e. alewL OFfwaledenew

23. The L.C.M. of 78 and 39 is 78. Find their G.C.D.
a. 39 b. 48 c. 59 d.78 e. Answer not known
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24.

25.

78, 39 aFweupplen 5FHM QuUTg wWLMmIEG 78 elelled WHOLIH CUTH auGHHH orewt?
a.39 b. 48 c. 59 d. 78 e. alewL OHfNwaledenew

A man purchased a cycle for Rs. 600 and sold it for Rs. 480. Find the loss percent.

a. 20% b. 120% c. 60% d. 80% e. Answer not known

QT @ WHeuemigenw eh. 600 H& eummidl h. 4805@ IBMTEL gBUBL HOYL FHATHLD
SBITCU0T .

a. 20% b. 120% c. 60% d. 80% e. alenL QxfNwelsdenev
In a school, 820 are Boys and 60% are Girls. Find the number of Girls.

a. 1225 b. 1230 c. 1231

d. 1235 e. Answer not known

@@ ueeflufed, 820 wrewiauTaEhd 60% oTewiealsEnd 2 eTenearT. elafled, DTN H6! 6T
6T6UGTEU0T) b 6N BEMULIH  SBIT6UIT .

a. 1225 b. 1230 c. 1231
d. 1235 e. alenL OQxNwelevenev
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